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HEUNCU3L B4 MUSHUUSUL3nhELr
33661114 Sblunwlpy 0,005% 24; 9L hunn 450 6000 2700,0
33661120 Unp$hup hpnpnpinphn, 1%-14; q< huwin 450 1200 540,0
33661123 Sphdbwhpnpu 2%-10) QL huwin 0 500 0,0
33661136 Hhuwgbiugund 10dq/20; 9L hwwn 100 2000 200,0
33661135 Uhnwagnpud 15uq 34 < hwn 428 500 214,0
33691176 Upntiwwg 50ug/500; Q< huwwn 169000 140 23660,0
33691176 Ujintiyjwg 50uq/504) uu hwn 169000 14 2366,0
33611350 Uulnpphlwppnt 5%-50; G< hwn 0 12000 0,0
33611350 Uulnpphtwpepent 5%-20) < hwwn 35,5 12000 426,0
33611130 Uwnpnujhtih unyhun (nidnyp 0,1%-1d] G hwwn 55 3500 192,5
33621160 Udhunluuypnuwpent 250 4 <L hwwn 1100 990 1089,0
33631370 Uwnpwlyniphnuih plighjun 10dg/01-2,50) q< hwwn 309,9 2000 619,8
33661184 Spuwwnpwyniphnuh plighjwwn 50q/2,50; < hwwn 1008 500 504,0
33661115 Pnuwhyulwihl 40 G< hwun 214,8 1200 257,8
33691138 Syniling 5%-2500) 9< hwwn 245,9 1200 295,1
33691138 Hynilyng 5%-500u) 3L hwwn 255,9 4800 1228,3
33691138 Syniyng 40% 501 < hwwn 0 3000 0,0
33691139 Syniyng 40% 51 A< hwwn 37,97 1500 57,0
33661153 _“Hipuwdbpwgnt whuwywpehy 104 K hwwn 0 40 0,0
33661153 Hipuwdbipwagnt whuwlwehy 104 < hwwn 610 38 23,2
33661153 “Hipuwdtinwgnt 4dg/dj-10) 4L hwwn 23,4 10000 234,0
33671130 Hhptiuhhnpuwdhts 1%-14; 9L hwn 20,8 40000 832,0
33671130 "Hhbuhhnpwdht 1%-14) uu hwin 20,8 4000 83,2
33621400 "rowwiiht 40dg/d) 54y 9< hwn 580 1500 870,0
33621400 Trowwiiht 40dg/f) 50 uu hwtn 580 150 87,0
33611170 “pnunwibipht 40dg/d; 24 L huwiwn 36,8 2500 92,0
33611170 “Hnunwybiphts 40dg/d) 24| Uu hwwn 36.8 250 9,2
33611170 “pnunwybipht 40dq 9L huwin 6 1200 7.2
33631310 Hhiynpbuwy 75 dg 3dp 4L hwin 67,8 12000 813,6
33651127 "npuhghlihtsh h/p 100dg GL hwuwn 133,19 1000 133,2
33621760 Euwwwnhy 10dg Q< huwwn 4,85 15000 72,8
33621760 Euwwuiphy 10dq UL | hum 4,85 1500 7.3
33691202 Enwdghjun 250dg/d) 24 Q< hwwn 150 7000 1050,0
33621290 Ewhub$phl /wnpbbught/ 0,12% 14, 9 | hum 80 2000 160,0
33611370 (Ghwdht pinphn 50dg/d; 1] QL hwwn 26,9 5000 134,5
33661113 (@rhnuytinw bwwnphnud 1,0g Q< hwwn 2840 480 1363,2
33661113 fdhnuyblunw) twnphnud 1,0g uu hwwn 2840 48 136.3
33691141 fFpywdhu pdoluljwu < hwuwn 0 8000 0,0
33661110 hagnynipw 2504 < hwwn 0 200 0,0
33661110 hanbynipwits 2504 QL hwn 30000 30 900,0
33661110 PanPynipuit 1004 q< hun 74499 800 5959,9




33631176 hunndbinwghl dndhly L hwwn 0 480 0.0
33631283 Lhghunuyph| 10dq L hwtn 12,5 4800 60,0
33661116 Lpnnluyhuh bhgpnginphn. 2%-201; < hwun 756 500 378,0
33651138 Lun$inpuwghti |-p b/t 0.5% 1004; L hwn 0 600 0,0
33651138 Lun$inpuwght |- b/t 0.5% 1004 9L huwin 1019,9 200 204,0
33651138 Lun$inpuwght nhin 500dq 9< hwin 78,8 2000 157,6
33611420 Ywighnuih gyniyntiwn 10%-5d; AL hwn 88 2000 176,0
33611420 Yunyghnuih gyniyntiwin 10%-54; uu hwwn 88 200 17,6
33691134 Ywihnuh pinphn 4%-2004] 9L hwn 468,8 300 140,6
33691213 Yhtinwh Ywptwpepyuiht pwlnbphwibp / Lwphub QL hwwn 0 6000 0,0
33651212 Cwlwihwjnwgdwl wiwwnnpupt 0,50 L hwwn 550 600 330,0
33621100 Zhuyuwipht 50004u/4) 50 9< | hwwn 938 16000 | 15008,0
33621100 Lhwywphts 50004d4/d) 54) uu hwwn 938 1600 1500,8
33691814 <pnpopuhkehy oupw 6%-5004; L hwwn 3500 210 735,0
33621610 Uwuhwing 10%-4004; < hwwn 850 350 297,5
33691218 Uwqubghnu! wuwwpinwwh nbnpwhhnpwn, Yuihnw ac iiic 480 1500 720.0
wuwwpunwwnh htidhhhnpuin 104
33691145 Jwqubghnid unybun 25% Sdy Q< huin 28,45 8000 227,6
33661127 Ubiinwidhgn| bwwnphnud 50% -24; 9L hwn 37,6 40000 1504,0
33661127 Ubunwdhgn| bwwnphnud 50% -24; uu hwun 37,6 4000 150,4
33611160 Ubinnlyinuypwidhn. 5q/d; 24 G< huwwn M1 12000 493,2
33691112 Ubinpntprwgng 1004 aL hwwn 199,8 10000 1998,0
33651139° Unpup$jopuwights wltimlwiehy 0,5% Sy Q< hwtn 1199,9 40 48,0
33651139 Unpuh$opuwght 2504} < hunn 0 1800 0,0
33691154 Snhbipuny 1004} Q< huin 8650 1000 8650,0
33691154 Snhbipun| 504| < hwwn 4900 2000 9800,0
33691157 Snnhpuwtng 1004 9L hwwn 0 180 0,0
33691157 Snnhpuwtng 1004 < hwwn 17000 60 1020,0
33691136 Lwwunphnuh pinphn 0,9% 2504 < hwn 0 36000 0,0
33691136 Lwuwphnuwh pinppn 0,9% 2504 <L hwin 221,6 20320 4502,9
33691136 Lunphnuwh pinphn 0,9% 1004} QL hwwn 215,6 19200 4139,5
33691136 Lwiwnphnudh pinphn 0,9% 5000 AL hwiwn 227 .4 45000 10233,0
33691136 Lwwphnuwih pinphn 0,9% 10004 QL hwwn 268,8 24000 6451,2
33691136 Luwwnppnuih pinppn. 0,9% 30004d; L hwn 0 150 0,0
33691136 Luwnphnuip pinphn 0,9% 30004 9L hwwn 1500 45 67,5
336atrpg | vnnnudh pionh, L"”“‘;(;'g:j pinnhrGuighnwh IRt | q | pyn | 2074 | 24000 | 54576
|

33601120 | Cwernhnudh pinphi, uwmzn;grl'hmnnhn-uwtghnlﬁh ponbn | e | 273 1200 272.8
33691135 Lwwphnuwip phljwppntiun 8,4% 204 <L hwtn 0 800 0,0
33691136 Lwwphnwi phljwppntiwwn 8,4% 204 < hwwn 1008 200 201,6
33691133 Lbpwpldwt onip 30004 L hwin 0 1400 0,0
33691133 Lbpwpldwu onip 30004y 9L hwn 1500 900 1350,0
33621330 Uhlbipwidhn 25%- 2u; Q<L hwun 0 1500 0,0
33621330 Uhybpwihn 25%- 20; a< hwn 178 280 49,8
33611390 Mphphnnpuhl h/p 5%- 14 9< hun 0 15000 0,0
33611390 Mhphnnpuht h/p 5%- 14 < hwwn 229 8000 183,2
33631350 MNhwblnipnupnuh ppndhn 4dg/2d; 9L hwuwn 0 3000 0,0
33631350 Mhybynipnuhnwih ppndhn 4dg/2d; 9L hwin 1037,53 1500 1556,3
33631230 Mnyhinnt jnn. 10%-10004; q< hwin 2900 300 870,0
33661170 Mpnlwiht /Lnynluwyht/ 0,5% 2500 < huwin 504 120 60,5
33661181 Ulindynipuwit 2500, < hwwn 37780 80 3022,4
33631360 Unipuwdtipnuhnud 2% 54 Q< hwwn 189,9 2400 455,8
33621730 Ybpwwwihy 0,25% 24 L huwiwn 100 300 30,0
33621240 Shwulynpwiwdhu 500dyg 1dg < huwin 0 3000 0,0
33621730 Shwulnpwyuihl 500dlg 1dg < hwin 26,9 1800 48,4
33691236 Lnpnyhpwdhuh hhnpnpnphn 20dg 1d) Q<L hwwn 107,5 600 64,5
33691236 Linpnwhpwdhup hhnpnpinphrg 20dq 1y Uu huwn 107,5 60 6,5
33611100 Odbujpwgny 20dg < hwwn 9,3 30000 279,0




33641100 Opuhunnght -p SUU/; 1d] q<L hwin 177 4800 849,6
33641100 Opupuinghl |-p SUU/Y) 16 Uu hwwn 177 480 85,0
33691191 Snupnihughnubip/bubighwy5; 4L hwin 630 400 252,0
33691823 bnpdwnthhn/inényp 3L g 350 1200 420,0
33651245 Yhdghwnwpht 1000dg < huwwn 0 150 0,0
33651245 Ghdghunwpht 1000dg 9L hwwn 9999,9 50 500,0
33651227 Twljwppwghu 200dg 9L hwwn 0 100 0,0
33651227 “wlwppwghu 200dg. Q< hwtn 6999,9 10 70,0
33651230 “Yopunnniphght 2dg/dp 254; QL hwwn 0 200 0,0
33651230 Tropunnniphghl 2ug/dj 254} Q<L hwin 7950 50 397.5
33651231 Lunnunghn 100dq/54; < hwwn 0 200 0,0
33651231 Eunnuynghny 100dq/5u; L hwwn 3699,9 120 4440
33651243 Muwljhunwputi 1008g/16,7 9L huwin 0 400 0,0
33651243 Mwljhunwput 100dg/16,7 4y L huwn 9000 270 2430,0
33691280 Shuwjwwnhti 0,5 dg/d| 1004} < hwwn 0 200 0,0
33691280 Shuwuwhu 0,5 dg/d| 1004} L huwiwn 7999,8 120 960,0
33651248 Opuwhwjwwnht 100dg 9L hwwn 0 150 0,0
33651248 Opuwihwjwwnhl 100dg 9L hwiwn 7986,6 80 638,928
33651241 Dunpnipwghy 500dq G hwuwn 0 150 0
33651241 Sunpmpughy 500dgq 9L hwwn 3799,8 110 417,978
33661131 Shunpwpphuiwg nhin 100dg < hwn 0 102 0
33661131 Sbunpwpphuiw nhin 100dg < hwin 20 100 2
33691176 Ughwpndhght ogwpwly 200dg/54; 37,54) < hwwn 2400 30 72
33651163 Udhluwghti 500dq/24 L hwwn 0 100 0
33691176 Udhtnybu hu$wwn 1004 AL hwn 4080 40 163,2
Udopuhghiht/
33651111 il Unl 1-sh 600G QL hun 0 30 0
33651110 Udwhghipu 0,5q < hwn 215 1000 215
33651110 Udwhghiht 1,0 < hwwn 255 1000 255
33651111 Udopuhghihty/pjwinywiwppent upd.1000dg+200dg <L hwwn 0 200 0
33651111 Udopuhghiht/pjwynywliwppent upy.10001g+200ug q< hwwn 1200 100 120
33611350 Uulynpphuwpent, nnuwnngnhn < hwwn 9 1000 9
33691728 Ytignt fubkid, pubipndnpd 40q. < hwn 218 40 8,72
33631210 Phunwdbpwagnt punip Tdg/q 15q < hww 0 20 0
33631210 Phnwdbpugnt pump 1dg/q 15 < hwwn 900 10 9
Punwwnpnwhnudp ppndhn, peununtipng e 2us.
33691176 261/l 5004ba/dl, 200) Q< hwwn 2700 100 270
33611472 SGhgtipng dndhyubp ninhnuinhpuyh 1q Q< hwn 12,9 2000 225,8
33611472 Shgbinny dhypnhngiw 54y 9L hwin 104 1500 156
33611472 YHhgbipny dhypnhnglw 104 QL hwwn 119 250 29,75
33691138 SHynilyng 5%-5000; Q<L hwwn 0 15000 0
33691138 Synilyng 5%-5000; 9L hwn 247,8 7800 1932,84
33691208 Fyniynqui (nbipunpng) 100dqg/d 1004 QL hwwn 0 800 0
33691208 Syniinqui (nbputnpng) 100dq/d 1004; L hwwn 480 750 360
33691208 Qynilnqu (ntipuwnpng) 100dg/AS; 5004 QL hww 580 300 174
ase7rioe | onenwdbght ’;Zi‘;::f:’fq‘;‘;:‘::”“‘“““"’“""" o< | hun | 1979 20 | 23,958
33631310 THhiynpliiwy twwppnuth dndply 12 5dq < hwtn 12,9 500 56,45
33631310 Hyn$buwy bwwnphnuh dndhly 25d0q Q< hwn 112,9 500 56,45
33631310 THynpbuwy bwnphnud 10dg/q 50 nnugnn L hwwn 550 15 8,25
33691202 Ewnwdghyun 250dg L hwun 38 800 30,4
33691141 (FpYwdhl pdoljwluils L hwwn 0 7500 0
33691141 (Fpywdhu pdolwljwl K hwn 3300 2500 8250
33631290 bpnuypndtit owpwly 100dg/5d]  100d| < hwwn 700 250 175
33611310 hlunihts upéwinl wqnbgnipjudp-10d; QL hwn 0 30 0
33611420 Lhnphjugywsd hhtnwth upbwppdwhl dwuptubp qL hwwn 0 2000 0
33621100 Ywighnuih gyniyntwn 500dq L hwwn 0 1000 0
33691176 Yibdwunhl upd.1dg/2d; 9L hwwn 0 600 0
33141166 Lhuwwphl pump 25q QL hwin 0 15 0




33621640 Zhnpnbnpunhagnt punty 10dg/q 15 QL hwn 0 15 0
Linpwd$buplyny, dephinipw
i 0 o s [ | o | w0 | o
33691112 Utnpnupnwany, pinphbipuhnht punp 1% 20,0 AL hwwn 0 20 0
33691176 Uopupopuwghti |- 1,61g/41,250 d| AL hwwn 0 450 0
33691176 Opuhdbnwagnihtih hhnpnpinppry 0,254g/d) 10d] L hwwn 0 40 0
33691136 Lwwnphnwh pinphn e 10%; 504y AL hwwn 530 720 381,6
33651149 Lhuwnwwht 500000 U4 L hwwn 15,7 400 6,28
33661122 Muwpwghnwdng oowpwl 120dg/50; 1004 < hwn 399 20 7,98
33691176 g “;”fq';g“%g:’“ph" s 9¢ | hwn | 2650 5 13,25
I,
33651145 Mnihdhpuht B, bbn\lhgth.s;}IbpuLudb[aquh pRh uypk) ac —_— 0 2 0
33631230 Mnyhnnt jnn. punip 10 % 20q Q< hwwn 260 30 7.8
33671113 Uwpnunwing gnnuighp 100dyg/nnqu 201 Gl hwwn 1460 300 438
33691500 Spwbbpuwdwppnt nhin 250ug. aL hwwn 127 400 50,8
8t$nipopuhul nihy upl
33651141 inidnueh 7500g, 104 Q< hwwn 0 500 0
33661122 Mwpuwgbnwdng thn 5000 G< hwwn 6,5 5000 32,5
33661122 Muwpwgbnwidng dndhljubp 150dq GL hwn 50,9 130 6,617
33661122 Mwpwgbivnwdng dndhlutp 80dg < hwn 42,4 80 3,392
33631150 8hulh opuhn_punip 100dq 25¢ 9< hwwn 227,85 8 1,8228
33651134 Shuypndnpuwght nhn 500ug QL hwwn 28,9 3000 86,7
33611120 Hwininhnhti (hndhwgiwsd tpl -ph 20dg, 54| nidhy 9L hwn 0 75 0
33611140 Ounwliubnpnt 20g/AT) 4d) < hwwn 235 1500 352,5
33691192 Sbuwgnt, (hynluht wiwbowlwpehi 5g < | huwwn 504 8 4,032
33651150 Dyniyntiwgny 50dg <L hwwn 0 120 0
33651150 Syniyntiwgny 50dg < hwwn 116,84 70 8,1788
33651134 | Shwpn$iopuwght, nbipuwdbnwagnt n/lwtunyp 10 Ui 9L hwin 0 4 0
33651134 Shujpn$iopuwght, nhipuwdbtinwgnt n/Ywiunype 10 v Q<L hwwn 2016 2 4,032
33671129 Uhwipn$nipuy, mbmnwl;wjgl:‘, Phuwgnt wlwligh Yuwph| ac Hiiaii 0 9 0
1
33671129 Lhupn$nipuy, mbmpwlqwjgzl, Phlwgnt whwtigh Yuweh| 9< - 315 8 2,52
33691226 Spwdwnng 100dg 2d; 9L huwtn 200 500 100
33691226 Spwiwnny/nbpuljnnupnbiu 750q/25dq L hwwn 250 150 37.8
33661123 Sphdbwhpnhu 2%-1d 9L hwwn 780 400 312
33621420 Uunnpywuwnuwinht 40dg K hwwn 80 6000 480
33671125 Udppnpun) opwipwly 100 i <L hwwn 800 60 48
33671114 Udhunhih 2,4%-5 i QL huwwn 48 10000 480
33621390 Udhnnwpnu 150dg 34} QL hwiwn 650 1200 780
33651163 Udhywght 500dqg/2d; AL hwn 2440 120 292,8
33691176 Uwhljuwpwl nhin 5dg G< hwwn 507 120 60,84
33621740 Udinnhwyht 10dg. < hwtn 10 6000 60
33651110 Udujhghiht-+unypwlnwd 1000udg/500dq <L hwin 3000 80 240
33661121 Ugbwunhjuwihghjwpepent 500dg < hwin 6 3000 18
33621761 Ugbinhjuwihghjwppnt, dwgubighnuwh hhnpopuhr Q< hwwn 25 4500 112,5
33691153 Pwphnuh unydpwin thnoh 100g QL hwin 200 240 48
33691189 Phinwhhuwnhl 24dg < | hwwn 120 2400 288
33691811 Phuwlnnh| dndhy 10dg 9< hwiwn 42,6 3000 127,8
33621720 Phunwpnin 50g 9< | hwwn 30 12000 360
33621360 Shghiph| bnhupnpww/ Upwnpngihgbiph 1,54 < hwwn 750 1600 1200
33661153 THipuwdtipwqnu whtwlwphy 104] Q< hwn 750 40 30
33621250 Tapuwnpw 70 - 5004 9L hwn 2400 60 144
33621250 "Hapuwnpwt 40 - 5004 < hwwn 2400 180 432
33631250 Epwlng pdolwlw 96% QL {hunp 1200 500 600
33621120 Euopuwwwpht twinphnud 4000UU 0,44 Q< hwin 2400 600 1440
33611180 Lwlunnyng 200 ui < hwn 2300 40 92
33661116 Lhnnlwihtuh hhnpnpinphn 2%-2d; < hwtn 38 4000 152
33691192 Lpnnlwiht_hhnpnpinphn, Ewhubdpht 200 L hwin 900 150 135




33691203 Lnqwpwwl nhwn 100dg L hwwn 52,5 560 29,4
33691213 Lhndhiwgyws Yhunwh huptwppywht dubpkubp L hwwn 131 2000 262
33691213 Ybunwup Ywptwppduiht pwlnbphwutip / Lwphub e hwwn 45 5000 225
33691176 Yuppbuinght 100dbg/d) 1d; QL hwwn 22680 10 226,8
33621690 Ywpybinhing 25dq AL hwtn 50 2800 140
33631300 Yhinnwpndli 50dg/d) 2d) L huwn 180 1000 180
33691176 Ywuwnhl 1d) L huwin 220 400 88
33621140 Ginuhnngphy 750, 9 | hwun 250 12000 3000
Cwlwubfuhg/wuwnhubunhly/le whinwhwbhy
33621643 o /l_ih 3"“;"{]" /L’"",‘l'l',‘f:dh‘,:,up,?o ffh = ac | jhwp 3400 200 680
whw s/wlinhubiyun whunwhwths dhonglbip
33621643 i &mﬁl’}*"‘:w;'hg l@?‘?& dlzonqh i qc {hwp 7200 40 288
wljw wuwnhubiwywn wfunwhw
o dhgnﬂhhﬁé%n;% wpw ghhl;l% 20% o 5004 [t | 9800 i 28
Qwlw wlnhubiujun] wunwhwlhy dhonglubp/
N,N-nhntigh-N-Utiphi-wnih(opuhtphy) winupnuh
SIngs wnpuhnbwn, nhntghy nhdbiph| wintpnwh pinphn, = iéan e % e
Shnbunubnb hudushn
Lwlwubtuhg/wunhubunhly/l whnwhwuhs dhongubip/
33621643 | wn(hhtpuwdbphiugnuthnhup hhnpnpiphn, NN-phu(3{  9< thwp 8000 80 640
wdhunwpnuihy) nnntghiudhl
Cwlwubluhs/wunpubuinhly/l whunwhwuhy
33621641 ekl b aam i beuding ) L7 hww 4500 60 270
33621641 Cwlwlbhuhg/wunhubwnhly/l whunwhwuhg dhongubip/ ac i 15 12000 180
£inph inddnn hwptip
33621490 Ubiphinnuww 250dq 9L hwwn 45 1500 67,5
Ubinwdhany, bwnphnidwluu
33661125 dnunhhnpuwwn,wyhwnindbunup hhnpnpnppn, Q< hwwn 270 200 54
Slitghdtnhubnudh pnndhn 201
33621190 Ubtwnhnup bwwnphnw phunybhun 1%-10; qL hwwn 120 1200 144
33621700 Ubwnwnning 50dg. G huin 18 3000 54
33651143 Ubpnuybutd 1000dg G hwwn 4500 100 450
33641200 Uhgnupnuwn| nhin 200dyq G< hwwn 180 1200 216
33641210 Uhpbiwyphunnt nhin 200dg < hwwn 2756 60 165,36
33651139 Uopuh$iopuwght 0,16% -2504| 9L hwwn 1500 180 270
33691170 Snwpndhn. 1004 9L hwwn 16500 300 4950
33691154 Snhbpun| 504 G< hwwn 5500 2800 15400
33621750 Lh$linhuyht 10dq 9L hwn 31 5000 155
33691223 Lwnpnuyuwphtih Yughnwwlwl wn 0,34 < hwwn 2200 600 1320
33691223 Luwnpnuywphuh uighnuwwlwl wn 0,64 9L hwwn 3500 2400 8400
33691144 Lwwnphnwh phnunypwn 30%- 10d; Q< hwin 55 4000 220
33691136 Lwwnphnwih pinphn 0,9% 30004; QL hwtn 1500 150 225
33661147 Lbnuwnhgdht 0,05%- 1d; Gl hwn 60 1000 60
33611150 Muwblypbiwnhb L hwin 32 5000 160,0
33661122 Mupwghinwdng 1004 < hwwn 2500 160 400,0
33611470 Muwbnnypwgng nhn 20dg < hwwn 60 1400 84,0
33611471 Muwtnnwpuwgng 40dq L hwn 1870 50 93,5
33621480 MbphUnnuphy phin 10ig 9 | huwn 96 1500 144,0
33691186 Mhpwgbinwdh 20%-54; < hwin 55 6000 330,0
33691176 Mpngtiuwntipnt 2001g < hwwn 360 560 201.6
33642210 Mpbinuhgnint Sdg < hwin 8 5000 40,0
33661112 Mpnwnbny upy. 10dg/dy 200 Q< hunn 700 3200 2240,0
33621777 Mhdwpopuwpwt 15dg L huwwn 750 1260 945,0
33621777 Nhywpopuwpwl 20dq. AL hwtn 825 1120 924,0
33691200 Ublnghnubp A,B nhin < | hwn p7) 8000 176,0
33621620 Uwihpnunjwljnnt 25dq 9L hwwn 50 10000 500,0
33661181 Ulinynipuwls 2500 9< | hun 55000 20 1100,0
33661154 Stunpwluiht 1% witwluwehy 100 9L hwwn 2900 60 174,0
33631380 Snpwtiphgnu h/p 150dg L hwwn 80 1200 96,0
33691500 Spwltipuwdwppent 204 < hwwn 2350 200 470,0




33691500 Spwubipuwdwppent 500dq q< hwwn 208 600 124,8
33691176 Shiwgpbinp nhin 90dq < hwwn 830 56 46,5
33651116 Stdwgnih 1g <L hww 250 14000 3500,0
33651123 Btpnunwpupd 1q < hwwn 400 8000 3200,0
33651141 8ti$nipnpupd 750iq L hwn 1200 1000 1200,0
33651118 Stduppuwpunt 1g Q< hwiwn 150 24000 3600,0
33651134 Shupndjopuwghtt wluwlwhi 0,3% 10d] < hwwn 700 40 28,0
33631241 Lnphbipupnhth uwhpunwht (- GL huip 1500 250 375,0
33631200 Linpwitithlng, dbphinipwghy puniy 40q QL hwwn 300 240 72,0
33651192 0&h wnihquybtin hwlwpnyu qL hwuwn 120000 1 120,0
33611120 Swdnwnhnh ghun 20dg. 9< hwwn 28 8000 224,0
33611120 Suwdnnhwnhu 20dg Q< huiwn 980 350 343,0
33651150 byniyntwgn 150dg Q< huwiwn 150 1000 150,0
33691176 Snipwghihuh puniy 25 9L hwwn 250 200 50,0
33691176 Snipwghihtuh thngh 0,2 9< hwin 12 2000 24,0
33621230 Dnjwppnt Sug G hwwn 4 4800 19,2
33661123 Sphdbwhpnhte 2%-10 GL hwwn 780 150 117,0
33651163 Udpywghu 500dg/24; < hwwn 2440 120 292,8
33651110 Udwhghiht+unypwiunwd 1000dg/500dg QL husn 3000 80 240,0
33651112 Udopuhghht/piuynywliwppent nthy 250dg/5u| 1004 G< hwwn 1060 30 31,8
33691176 Uwhpuwpwt nhwn Siq G hwwn 507 120 60,8
33621390 Udhnnwpnt 200ug < hwwn 80 3000 240,0
33691153 Pwphnudh unybwn thngh 100q G< hwn 300 240 72,0
33671126 Ppndhbipuht 8ug 9L hwwn 3 3000 9,0
33611472 ~ Shgbipn dndplutip 2,11g G< hwwn 138 800 110,4
33621360 Fhgbiphy brhthunpwn/ thnpngihgtiphu 0,5dg G hwuwn 10 400 4,0
33691213 Lhn$hjwgywd Yaunwih Ywpbwppywiht dwupkubp q< hwn 131 1600 209,6
33611200 Lnwbpuwdhn 2dg q< hwwn 12 600 7.2
33661116 Lhnnlwyjhuh h/p gnnuighp 5%-154 9L hwn 1322 50 66,1
33661116 LhnnYwhtp h/p punip 5%-15q. Q< hwn 835 20 16,7
33651199 Ywinwnnipjwl nbd wwnjwunwlynge L hwin 7000 50 350,0
33671135 “wighnwh pinphn 54 q< hwwn 86 400 34,4
Cwlwubtuhg/wuwhubunhly/le winwhwuhy dhongubip/
ki tipdbunwwnhy Jwany dhong & ifunp i il 40
ZulwiEfufg/wbnhubynly L wiunwhwlhy 0hengUhp7
N,N-nhntighi-N-dbiRhy-ujnih(opupkhy) wdnupnup
33621643 sonpsinbiuen, ribnbiahyahibshysalnb o ronhn QL |hwp 13500 80 1080,0
Shndhtunubinb bunlihn

33141166 Lhwywphu punip 25q QL hwn 620 20 12,4
33621640 Zhnpnynpwhgnt puniy 10dg/q 15 QL hww 265 30 8,0
33651191 Lwlhwpnuinyhuwiht shéndy inpwy U G hwuwn 2700 3 8,1
33651191 Lwijwpninnyhtiwgh ghéndy npuy £ 9L hwin 4800 3 14,4
33651191 Cwihwpnunnyhtiwght ghénly why & 9L hwin 5400 3 16,2
33621270 Ubtpnih ndnype dbph| handuwitipwppynwd L hwwn 18 200 3,6
33691112 Utinpnuhnwqny, pinphbipuhnht nninnn 20q L huwwn 655 20 13,1
33631260 Snnh uwy. (nwnyp 304 < hwwn 430 100 43,0
33651128 Lhwpnnipwtnnihu 50dg S< hwwn 5 1000 5,0
33691199 Uhjhdwpht 2251g A< hwwn 24 800 19,2
33691176 Shywgptinp nhw 90dg < huwin 830 56 46,5
33651321 Stbonwpuhd/unypwlinwd 1000dg/5004dq < hwwn 3000 60 180,0
33651141 8hpnipnpupd 750dq < hwwn 1320 500 660,0
33631491 8tnpphght 10dq < hwin 71 600 42,6
33691176 Shynwbuwnniwn whtwlwpehy 1%-50; q< hunn 3180 25 79,5
33671116 Lupndtitnwgnih gnnwohpe preh 104] hwwn 1500 30 45,0
33691176 Opuhdbiwnwgnihtuh h/p peh Ywph) 0,5dq/d) 104] QL hwn 680 40 27,2
33651192 0&h wnihyw i hwlwpnyl < hwn 120000 1 120,0
33621590 Dnipnubidhn 40dg < hwiwn 4 2000 8,0
33621590 Snipnubidhn 1% 24) 9L hwwn 294 32000 940,8
33691176 Shiwgnl, (hnnluyht 150, 9< hwwn 1100 30 33,0




33691200 Ukunghnutip Ul huwn 20 2000 40,0
33671113 Uwpnunwdng gnnugpp Uu hwwn 2250 6 13,5
24111190 Uduwppnt quq uu hwiwn 5500 50 275,0
33651143 Utipnubiutad 1000idg uu hwwn 4900 10 49,0
33651126 Ghunwdhght 24y uu huwn 67 600 40,2
33671113 Uwpnunwing gnnuighp uu hwwn 804 60 48,2
33691800 Puwghgntiwp 100dg Uu hwwn 100000 1 100,0
33661112 Mpnuwn$ny 10dg/d| 204, uu hwtn 465 215 100,0
33611280 Hhlyjwahr MR nhin 60dg. uu hwwn 96,2 300 28,9
33691176 hunndbunwght Undhl UU | hwn 97 360 34,9
33621600 bunuwwwihn nhn 1.5dg uu hwtn 18,833 1800 33,9
33621100 Ywighnuwih gyniyntiwn 500dq Uy hwtn 22 500 11,0
33141165 Ujpnuih 20% 1004 Uu hwuwn 4 25000 100,0
33621590 SDnipnubidhn 1% 20 uu hwwn 29,4 3400 100,0
33691176 Udhtnybl hupuwlicn 1004 Ul hwwn 4080 24 97,92
33621783 Lnp wnpbuwihl 1dg/d; 24} Ul hwwn 2500 40 100
33621290 Euhub$pht /wnpblwhly 0,12%-14] UU | hwn 300 20 6
33621510 Ywuwnwphy 25 dg Uu hwwn 4000 5 20
Cunuwidbup 227027,0
ATUULUL UUrLRUYNCNRULEE B4 MUrUSULER
33181110 <hdnnhwihgh uwpp [¥ha) hwin 7000000 2 14000,0
33181140 Zhdnnhwihgh onh dwppiwt Yuwjwl LUl hwwn | 42500000 1 42500,0
33111100 fSwjhu ntlingbli uwpp q< hwwn 9300000 1 9300,0
4293111 Lnnwgnn gbunphpnig < hwwn 580000 1 580,0
33141136 Upunnpnzhs Yupbnp q< hwwn 0 200 0,0
33141136 Ufuinnpnohs Gwpbnp Q< hwn 6200 160 992,0
33141136 Uuinnpnghy Yubinp QL hwwn 8100 900 7290,0
33141136 Uhuinnpnohs Ywpbiupubiph hwwpwdnt Q< hwwn 0 700 0,0
33141136 Uuwnnpnohs Ywpbiinptibiph hwiwpwont Q<L hwun 12400 500 6200,0
33141184 Uhunnpnohs ninnnprihs hhpndhy -0,018 § G< hwtn 16000 40 640,0
33141136 Uuwhpwghnu Yupbinp q< hwwn 0 10 0,0
33141136 Uuwhpwghnti wpbinp Q< hwn 105000 3 315,0
33141136 Uuwhpwghnt Ywpbiup < hwwn 95000 3 285,0
33141137 Puwntwiht jupbinbp pwpdp 6dwl 1 Q< hwwn 32800 200 6560,0
33141137 Pwintwjpt Yuwpbubp pupdp 0wl 2 < hwwn 31000 300 9300,0
33141137 Pwintiwiht Yuwpbubip pupdp Godwu 2 Ul hwwn 31000 30 930,0
33141137 Punbwiht Yupbwp 1 < hwtn 32800 220 7216,0
33141137 Pwntiwht Yuptinp 2 9L hwwn 31000 300 9300,0
33141137 Puwintiwht Yuptivnp 3 <L hwwn 0 50 0,0
33141137 Puwinuwjht Yupbnp OTW < hwwn 0 5 0,0
33141179 Pdlwlwl hwywpwdniutin wughngpuwhhuwp hwdwp A< hwwn 19800 1200 23760,0
33141180 Pdolwlwl hwwpwéniutin wughngpubhuygh hudwp uu hwwn 19800 120 2376,0
33141136 Sy Ywpbwnp 1 < hwwn 17800 600 10680,0
33141136 Quwin Ywpbunp 2 QL hwwn 0 70 0,0
3314121 Shd 60ud < hwin 0 150 0.0
33141211 Tuunwlh Gupnn Yuy q< hwwn 0 50 0,0
33111310 Hinwuywin unblin 1 QL hwwn 89000 260 23140,0
33111310 Hnwwwn unbun 2 9L hwuwn 95000 260 24700,0
33111310 “Hinwwwwn unbun 3 aL hwtn 79000 60 4740,0
33111310 Hnwwwn uinkln 4 < hwtn 0 30 0,0
33141211 Eblpnn. nhpdwywp dwdwbwlwynp uwppbiph L hwwn 0 2 0,0
32141211 Pnbubywinnp 20/30wnwstwiht thwpkip Ynwhinnny Q< hwwn 10000 400 4000,0
3314121 bnbubywunnp thwpbp 20 Bu) L hwwn 6000 50 300,0
33141211 bntubywinnp thwpbpe Ynuhinuny LS hwwn 10000 100 1000,0
33141136 huwnpwnynuwbp Swlwuswihu L hwwn 10900 1500 16350,0
33141136 huwnpwrynwtip Swéwlswihu Uu hwwn 10900 150 1635,0
33141136 hunpwrynwbip pidnpug 10ud QL huwn 10900 250 27250
33141136 Punpwrynwbip $dnpu) 10ud uu hwwn 10900 25 272,5
33141184 Ynpntwp nipnnpnhs 0,6-0,7gq. q< hwwn 0 80 0.0




33141184 Ynpnuwp ninnnpnhs 0,6-0,7q K hwwn 35000 40 1400,0
33141184 Ynpntiwp Juybip 0,4-0,5g s hwwn 0 120 0,0
33141184 Ynpntwp Yuytip CTO < hwn 0 10 0,0
33141184 YnpnUwp Ywjbip CTO 1 9L hwn 0 5 0,0
33141184 Ynpnbwp Juybip CTO 2 G< hwin 0 5 0,0
33141184 Ynpnuwp Juibip hhnpndhi 9L hwn 33000 500 16500,0
33141136 Uhypnywpbitnp Ynpnliwp wunpeh A< hwwn 0 5 0,0
33141136 Ninnpnhs Ywpbtnp QL hunn 0 50 0,0
33141136 Ninnnpnhs Yuiptivip QL hwin 21000 20 420,0
33181170 Upjuli hnupwijht qhd 9L hwwn 1490 11500 17135,0
33181170 Upjw hnupuyht ghd uu hwwn 1490 150 1713,5
33181150 <hduwiht funwtnyph pwppphe <L hwn 1350 11500 15525,0
33181150 Zhiuwght funwynysh pwppephg uu hwn 1350 1150 1552,5
33181120 “Yhwihquwnp <L hwwn 3600 1200 4320,0
33181120 “FHhwihquwnnp uu huwtn 3600 120 432,0
33181120 “Hhwihquuwnp L hwwn 2750 4000 11000,0
33181120 Huwihquunp uu hwwn 2750 400 1100,0
33181120 Huwhquwnp 9L hwn 3000 1440 4320,0
33181120 “Hhwihquwnnp uu hwwn 3000 144 432,0
33181120 “Hhwihquunp < hwun 3400 4000 13600,0
33181120 Thwihqwinnp uu hwin 3400 400 1360,0
33181160 aeduhl unwlynie < hwin 3250 2500 8125,0
33181160 (@pduwihl funwlnye uu huwn 3250 250 812,5
33181160 Yhnpnuwpepyh funwtnyp Q< hwn 10000 160 1600,0
33141149 Shuwnnywiht wubnubp qupytipulwih < hwwn 195 9000 1755,0
33141149 Shunnywht wubnubp Gpwlwiht Q< hwwn 195 9000 1755,0
33141149 Dhutnnyuyhl wubinibp qupybpwywhu Q< hwwn 196 2500 490,0
33141149 Shunnywiht wubinubp Bpwlwihu 9L hwtwn 196 2500 490,0
33181120 Shynp htidnnhwihah uwpph q< hwiwn 75000 15 1125,0
33141136 Gupbintip hbdnnhuwihgh 9< | hwwn 8200 50 4100
334192 | yupalynalph wnuwpunlebt wpabwibulyd hupewy | €| M | O . o
STN92 | \fyryulnuliph wnpunilriit uipg st hpisl ¢ | hwwn | 102000 510,0
33141192 Utpwlh Yuppwdnp hwppwl G< hwin 0 6 0,0
33141192 Utpwyh Yuppuwynp hwppwl q< huwn 102000 3 306,0
33141192 Pugniynuyph dnnwlu wpghbjwhwlynn hwppwy 9L hwwn 0 25 0,0
33141192 Pugniynulyph dnnwlw wpgbpwihwlynn hwppuwly L hwwn 132000 13 1716,0
33141192 Pwqniynuliph \nphug dbtu Q<L hwwn 0 10 0,0
33141192 Updniulytnish wpgbpwthwlynn hwppwy G< hwn 0 4 0,0
33141192 Updniuytiniuh wpgbpwihwlynn hwprwly QL hwwn 102000 2 204,0
33141192 Bwéwugnuyph hbnwlw thnginfuwlwt wilywdp a< hustn 0 15 0,0
wngbjwihwlnn hwppwl
saangy |  Dwowgnulnh himuls ipndnfslysl wllyuda a¢ | hum | 102000 8 816,0
wpabwthwyynn hwppul
33141192 Ugnpnulph H<U hwppwl bhpwnjw) Yebnpnuwywl ac iR 0 10 0.0
wunnunwyp
33141192 | Uarnnulinh KU hwnpwl Ubpwyw Ylipabwul | gz | pun | 162000 1134,0
wnnunwlp

33141192 Ugnnulyph €U hwppwljh Yndwpbiuhnt wnnunwy <L hwn 0 10 0,0
33141192 Ugnnulph U hwppwlh Yndwpbupnt wnnunwy A hwwn 3000 7 21,0
33141192 | Ugnpnulyph htinwluw npuwjht wpgbiuthwyynn hwppwy | 9< hwwn 0 6 0,0
33141192 | Ugnpnulyph hinwljw npuwjht wpgbputhwydnn hwppwy | 9< hwwn 162000 3 486,0
33141192 | UG npph dnunwlw npuwht wpgbpwiwlynn hwppuwl q< hwun 0 10 0,0
33141192 | Ut npnph dninwlw npuwht wpgbwiwldnn hwprewy L hunn 132000 5 660,0
33141192 | Utd ninph tninwlw Ubipuwihl wpgbwthwlynn hwppuly 9L hwin 0 10 0,0




33141192 | Utd nyngh dnuwlw Ubipuwhts wpgbjwihwiynn hwppwy | 9< hwwn 132000 5 660,0
33141192 | Utd ninph htinwlw dhowht wpgbjwiwlnn hwpewl < hwwn 0 10 0,0
33141192 | ULd ninph htinwlw dhowiht wpgbijwihwyynn hupewy 9L hun 132000 5 660,0
33141192 | Uppnpnph htinwlw Ynnduwiht wpgbputhwlyng hwppuly| - < hwwn 0 20 0,0
33141192 | Lppningh htinwlw Ynnduwht wpgijwihwinn hwppwy [ 94 hwtn 102000 10 1020,0
satanoa | onen wngbuspulidnn Unduinbuhnl huppul 35001 gy 0 10 0,0
wnnunwlubinh hwdwp
aataoz | nen wnaBuhwldnn Yndupbupnl huppul 3500 g0 1 py, | 102000 5 510,0
_winnunwlubph hwdwp
33141192 Tbin wpgbwihwldnn Gndypbuhnt hwppwl 4,504 ac i 0 10 0.0
wuwnunwlubph hwdwp
sanagz | ComunaBmadiulinn hndupbubn hwpeul; 4,500 9< | huwn | 132000 5 660,0
wnnunwbubinh hwdwn
33141192 Ugnpnulph Ywpé wpnpupdw dbfu Ywiuphgny q< hwwn 0 60 0,0
33141192 Ugnpnulyph Ywpé wpnpupdwy dbfu Yuhwphsny <L hwwn 162000 30 4860,0
33141192 Ugnpnulyph bipwp wpnpuhdw) dbfu Yuthwpheny < hwwn 0 30 0,0
33141192 Ugnpnulph biplwp wpnpuhdw) dbfu Yudwphsny Gl hwwn 162000 15 2430,0
33141192 Ugnnulypp wpnpuhdw Jbfuh 6,404 wunnunwy q< hwwn 0 90 0,0
33141192 Ugnnulph wpnpuhdwy Jbjuh 6,400 wnnunwl QL hun 3000 45 135,0
33141192 Ugnnulyph wpnpupdw) dhiuh 8,004 wnnunwly L hwwn 0 90 0,0
33141192 Ugnnuyph wpnpupdwy dbfuh 8,004 wnunwly <L hwwn 3000 45 135,0
33141192 Utd ninph (nphuq ubju < hwwn 0 15 0,0
33141192 Utd ninph inphuq dbfu Q< huwin 162000 8 1296,0
33141192 3.9 ud nphtig wununwl dbtuh hwdwnp QL hwwn 0 20 0,0
33141192 3,9 ud |nphtig wwnunwly dbfuh hwdwp < hwwn 3000 10 30,0
33141192 Ugnnulyph wpnpupdwy dbfuh 4,944 inphug wununwly < hwwn 0 120 0,0
33141192 Ugnnuliph wpnpupdwy dbfuh 4,944 (nphug wynnunwy QL hwn 3000 60 180,0
33141192 2,404 wpgbjwihwlynn wunnunwly <L hwwn 0 50 0,0
33141192 2,400 wpgbijwthwlnn wunwnwl < hwwn 3000 25 75,0
33141192 2,740 ywnnunwly AL hwwn 3000 25 75,0
33141192 3,504 wpgbijwihwlnn uwntighng wnnunwy 9L hwwn 3000 150 450,0
33141192 3,500 wpgbijwhwynn Ynpnhlwy wnnunwl s hwwn 0 100 0,0
33141192 3,50 wpgijwthwlnn Ynpunhljup wunnunwy < hwwn 3000 60 180,0
33141192 3,504 Ynpunhywy wununwl huptuwpwiynn < hwn 4] 150 0,0
33141192 3,504 Ynpunpljwy wuinunwy huplwpwlynn < hwin 3000 100 300,0
33141192 4,044 uyntighng wunnunwly < hwwn 0 20 0.0
33141192 4,040 uynughng wnnunwy G< hwwn 3000 10 30,0
33141192 4,000 Ywunywgywd uyntighng wnnunwl 4L hwwn 3000 40 120,0
33141192 4,501 Ynpinhlyw| ynnunwl hupiwpwlynn < hwn 0 80 0,0
33141192 4,504 Ynpnhlyw| wnnunwly huptiwpwlynn Q< hwn 3000 40 120,0
33141192 5,004 wpghjwihwlynn uwnughng wnnunwy < hwuw 0 100 0,0
33141192 5,004 wpgbywihwlynn uwnughng unnunwly <L hwiwn 3000 50 150,0
33141192 5,004 wpgbputhwlnn Ynpunplw) wnnunwly Q< hwwn 0 50 0,0
33141192 5,004 wpqbpwihwlnn Ynpunhlw wnnunwy 9L hwtn 3000 25 75,0
33141192 7,00ddd Yndupbiuhnt wunnunwly < hwwn 0 50 0,0
33141192 dnpp Yndwyptiuhnt htj‘fla;uﬁnB.S Ul wununwliuph a< — 0 10 0.0
33tamoy | ren Undupbuhnt hunpuwl 3.5 A uinnunwlUBeh g | puin | 102000 5 510,0
hwidwp
33141192 Lbn Yndypbuhnu hu;‘rla&uur:bw wununuwlutiph ac e 0 10 0.0
33141192 By, Mkt h“:;j"‘:‘;‘;‘n“'s'm Wennura 9< | hwn | 132000 5 660,0
33141192 Ukl Gppnpn winipniyup :wgzwh 3,5 dd ypinunwlubph ac tiski6h 0 10 0.0
wdwp
s314nigy | UM upennn wnipnun hunpuly 3.5 U0 wenunUR | qe | pyn | 102000 |5 510,0

hwdwp




Ll Yndwpbupnt hwppwy 4,5 08 wnnunwlubph

33141192 q< hwwn 0 10 0,0
hwdwp
33iangy | b lnduntuhnl “‘"l:‘::‘u‘: A3 AR ppnnE A 9¢ | huwn | 162000 5 810,0
n
33141192 Mtaynbuwnpniyghnu hu;]nﬁjn&s Ud wuinnunwlubkiph ac _— 0 10 0.0
satatrez | MouUnLumnniighnt hupwd; 3,5 dd winnunwlitp 9 | hun | 102000 5 510,0
hwdwp
33141192 Gynin 1,5 dd 30ud 9L hwin 1500 200 300,0
33141192 Ginn 2,0 dd 30ud < huwwn 1500 200 300,0
33141192 Tynin 2,5 dd 30ud < hunn 1500 200 300,0
33731121 Ubpwluwiht nuwyuy 4C | huwn 37000 250 9250,0
33731120 Ubpwluwht |hgpwinpyws thuhniy nuwujwuly QL hwwn 0 250 0,0
33731120 Lbipwluughts jhgpwynpywd thwthnil nuwujwly AL hwwn 50000 200 10000,0
33731120 Lbpwyuwiht thwihny hhnpndnp nuwuywl L hwwn 49000 50 2450,0
3373120 Unundnihly dwindh hpnpndhy ng thwyiniu nuwtjwly < hwwn 50000 50 2500,0
33141212 Shyntunyuhphlwghwih hwywpwdnt 4L hwwn 60000 102 6120,0
33141155 Fwiwl UGtwpnidwlwu-Ybpwnnd < hwin 0 250 0,0
33141156 “wtwl UGbwpnidwljwu-Yhpwinnd QL hwwn 4700 150 705,0
33141155 Twbiwl wiuwpnidwlwu < hwwn 0 252 0,0
33141156 Thutiwly wiuwpnidwlywu L hwwn 5500 180 990,0
33141212 Uyuwyppwhwinwlwt ukiply L hwwn 0 50 0,0
33141212 Uluwyppwhwinwlwt ubpy L hwn 11000 40 440,0
33141212 Uhuwyhpwhwinwluu ubpy QL hwn 3000 70 210,0
33141211 Nuuwtywlih Yuwunywnp on 12.30/10.00dd A< hwn 0 25 0,0
33141211 NuyUjwlih Yuwungwn on 14.30/12.00dd AL hwn 6500 25 162,5
33141211 Nuwtjwyh Ywwunywn on 15.30/13.00dd <L hwn 0 25 0,0
33141211 Nuwywbh Yuwuniywn on 15.30/13.00dd <L hwtn 6500 20 130,0
33191620 UGtwyhpwpnidwlwl dhp. unbiphp dwdling uwlinwuh < hwun 1200 700 840,0
33141211 Uluwpnidwlwl pwppphy < hwn 0 200 0,0
33141211 Uluwpnidwlwl pwpeph < hwin 4200 150 630,0
33731141 Uwnbiph| bbpwluwiht (ndnye 5004 q< hwwn 6400 210 1344,0
33731140 hgninnuhly, utnbiphy,wwhpngbl InWbnyp Q< hwwn 2500 400 1000,0
3314121 Utiphigtiyninquuyhts Jhulynbywunhly /qby/ &< hwwn 0 250 0,0
33141212 Utiphigbignynquupt huynbyuunhly /gty < hwwn 6200 200 1240,0
33141224 Yhupkyinndhwih hwdwn twhiwibudwd gnun ac — 0 12 0.0
hwywpwédnt
33141225 R e v s a¢ | hun | 110000 6 660,0
hwdwpwdnt
33141184 Ywbp 0,35 9L hww 0 150 0,0
33141184 Ywbp 0,35 9L hwwn 19500 60 1170,0
33141184 Ywbip nhwgununhy 0,35 L hwwn 11000 50 550,0
33141184 Ubypniwbp 0,014 9< | hun 0 50 0,0
33141184 Lhypndwbip 0,014 9L hwwn 100000 40 4000,0
33141184 Lypnddhypndwhip 0,014 QL huwn 0 50 0,0
33141184 Lhypnddhypnywbip 0,014 GL hwwn 100000 35 3500,0
33141184 Suyn ohp Q<L hwwn 0 50 0,0
33141184 Swn 2he < hwtn 78000 20 1560,0
33141136 Ninnnpnhs Yupbnbp Q<L hwwn 0 100 0,0
33141136 Ninnnpnhs Ywpbnbn AL hwwn 55000 50 2750,0
33141136 Uuwhpwghnt Yupbnbpubjpnhuywghy A< hwwn 0 50 0,0
33141136 Uuwhpwghnt Yuptintp/utipnhugwghy K hwwn 480000 15 7200,0
33141136 | Uuwhpwghnt Yupbnbip/wtiph$tiphly hwuwtbihnipjwdp K hwwn 0 50 0,0
33141136 Uhypnjwpbinbp < hwwn 0 20 0,0
33141136 Lhpndhlypnlwpbnbp G< hwn 0 50 0,0
33111310 Uwnbuwn/nbwnphytip i hwuwn 0 50 0,0
3311310 Uwnkuwn/nbinnphdtip L hwun 462800 25 11570,0
33111310 Ltipnuwntiin S< hwwn 890000 20 17800,0
33191510 Pnfutbipwpwldwt hwdljwpg/pwpap Gupdwu < hwuwn 0 200 0,0




33141211 Gnninh thwlwuny L hwn 0 200 0,0
33191620 Uinbiph| uwywt 9< hwwn 180 150 27.0
33141142 Lbpwplhs hwlwuny < hwwn 0 50 0,0
33141211 hudnighnt funnnduwly 9< hwn 0 100 0,0
33141136 “Hwgununhly “wpebnbp L hwin 0 100 0,0
33141136 "Hwglnunhly Ywpbinbp 9L hwwn 17000 60 1020,0
33141136 “thwgunuwnhl Ubipn Ywpebnbp < hwwn 0 50 0,0
3314137 “Hhwgunuwnhl tbypn Ywpbnbp < hwwn 25000 25 625,0
33141211 Ynublwnnp Ywash Q<L hwn 0 200 0,0
33141211 Ynubljiinp Ywél 9< hwwn 18000 50 900,0
33141136 Uhlypnlwpetipbp < hwun 230000 30 6900,0
33111310 Uwnblin G< hwn 0 15 0,0
33141211 (3pnuphg Wwowwwunn gnpdhp Q< hwn 0 15 0,0
33141136 Uuwhpwghn Ywpbinbp < hwwn 395000 40 15800,0
33111310 Uwnbuwn/ninphytip Q& hwwn 0 20 0,0
33141211 Uuwhpwghnb Ywpebwnbn thnpp nhwdbinpny < hwin 0 20 0,0
33141211 Uuwhpwghnt Yuptnbp dinpp nhwdbnpng < hwwn 230000 6 1380,0
33141136 Uhlypnlwpbinbp < hwn 0 20 0,0
33141184 Lbjpndplypnduibin QL hwn 0 30 0,0
33141136 Ywpebinbip phplinthy < hwin 20 5000 100,0
33141136 “wptinbip Ubpbpwluihu 24G K hwwn 45,9 20000 918,0
33141136 Ywpbintip Ubpbpwlwihu 24G Uu hwwn 45,9 2000 91,8
33141136 “Ywpbwbn ubpbpwlwihu 226 < hwtn 37 10000 370,0
33141136 “wpbinbn ubpbpwlwihu 226 uu huwn 37 1000 37,0
33141136 Ywphintip ubpbipwlwhu 206 9L hwin 37 10000 370,0
33141136 Ywphbnbp bbpbpwlwht 206 Ul hwwn 37 1000 37,0
33111230 Ugunndwin pudwlwynphsh Swjpwlwiutp 10-200ul; <L hwin 0,552 80000 442
33111240 | Ugdundwn pudwtiwynphsh Swypwlwiutin 100-10004Yy QL hwtn 1,548 40000 61,9
33141115 Rdolujwt pwdpwly ng hulwlbhuws 100g Lbipddynn QL hwwn 148 4000 592,0
33141116 Pdolwlywu pwugh /dwpyuw/ QL hwwn 62,97 60000 3778,2
33141178 "Hantiph Ubpwplydwl hwdwywpgbp QL hwun 0 100000 0,0
33141179 "Hentiph Ubpwpydwl hwiwywpgbip L hwwn 35 50000 1750,0
33141111 Yuysnit uybinwuh 5*500 Yunnphg QL hwwn 199 8000 1592,0
33141111 “wsnit uybnwuh 2,5*500 Yunnphg 9< hwin 82 5000 410,0
33141156 Qbntinglibip pdolwlwl ng unbiphy G< hwn 0 200000 0,0
33141157 Qbtinungubip pdolwlwl ng unbiphy 4L hwwn 10 100000 1000,0
33141100 | Utuwuguidjw oguwgnndiwl phup-tiphq quniyndtunph Q< hwtn 0 5000 0,0
33141100 | Ubiywugwdjw oquwgnpdiwl phup-tiphq qyniyndtnph Q< hunn 90 4000 360,0
33141173 Uhgpunnitihy < hwwn 97,5 5000 4875
33141142 Lbpwplhsubp 1,0 G< hwun 9.7 80000 776,0
33141143 ULbipwplyhsubp 2,0 9L hwwn 9,69 100000 969,0
33141142 Lbpwplhsubp 5,0 <K hwwn 9,9 160000 1584,0
33141142 Lbpwplpsubp 10,0 < hwwn 0 140000 0,0
33141143 Lbpwplpsubp 10,0 L hwwn 14,5 70000 1015,0
33141142 Lbpwplhsubip 10,0 lock < hwwn 24,5 5000 122,5
33141157 Lownwpibip b uwpbp q< hwitn 18 5000 90,0
33161220 Twwinkiy thwjink <L hwin 4 60000 240,0
33141211 Ghd bplwpwgnighs 150ud q< hwwn 260 5000 1300,0
33141110 Yhpwlwwbp 7414 ns hwlwubiujwd < hwn 80 10000 800,0
33141110 Yhpwluwuybp 10*16 ng hwlwbfudwd 9L hwn 136 8000 1088,0
33141110 Uhpwywuybn 5*10 ng hwywubhudws q< hwn 45 6000 270,0
33191310 ®npéwlnpbp qwumdwjh: u:;mum punhwlnip punyajwl qc it 16.7 48000 801.6
wu
33191310 Pnpdwunphp l{anJt:lquhD dbijwhu AL hwn 24,8 36000 892,8
33191310 Pnpdwlinputin Na ghunpuin QL hwn 16,7 12000 200,4
33141144 Nnuninbinuyhti wubin ninnnpnhsny L hwin 170 2000 340,0




33141158 Yhpwpndwlwl dbnunglbip N7 9L hwwn 90 6000 540,0
33141158 Yhpwpnidwlwl dbnungubip N7,5 < hwwn 88 8000 704,0
33141158 Yhpwpnidwljwb dbntingtiip N8 < huwwn 88 7500 660,0
33141158 Yhpwpndwlwl dknungltip N8,5 9L hwwn 88 3000 264,0
33141121 Yhpwpnidwlwl phibp Lt 1 < hwwn 200 180 36,0
33141121 Uhpwpnidwlwb phjap Lhynu 0 q< hwwn 200 180 36,0
33141121 Yppwpnidwlwu phibp Liynu 2/0 qL hwn 200 240 48,0
33141121 Yhpwpnidwluw phbp Liynu 3/0 Q<L hwtn 200 240 48,0
33141121 dhpwpnidwlw phibp Lignu 10/0 qL hwn 0 24 0,0
33141121 Yhpwpnidwlwl phijip Yangnun 0 < hwwn 0 600 0,0
33141121 YUhpwpnidwlwl phiip Yhngnun 2/0 < hwun 280 900 252,0
33141121 Yhpwpnidwlwl phitp Ykngnun 3/0 < hwwn 280 900 252,0
33141121 Uhpwpnidwljwl phibp 4Engnun 4/0 KK hwwn 280 480 134,4
33141121 Uhpwpnidwlwl phbp Mnjhwpnuhibu 0 < hwwn 169 600 101,4
33141121 Yhpwpnidwlwt phitp Mnthupnuhibu 1 < hwwn 180 600 108,0
33141121 Yhpwpnidwlwu phjtp Mnthypnwhiu 2/0 Q< hwn 169 600 101,4
33141121 Yhpwpnidwlwu phitp Mnjhypnuihitu 3/0 < hwn 180 720 129,6
33141121 Uhpwpnidwlwt phitip Mnthypnuhibu 4/0 <L hwwn 180 480 86,4
33141121 Yhpwpnidwlwt phitp Mnjhquinpu 0 G< hwin 309 900 278,1
33141121 Uhpwpnidwlwl phitip Mnjhgulwp 1 < hwwn 315 960 3024
33141121 Yhpwpnidwlwl phitp Mnjhguyupu 2/0 < hwwn 306 600 183,6
33141121 dhpwpnidwlwt phitp Mnhgulnp 3/0 Q< hwin 309 600 185,4
33141121 Yhpwpnidwlw phiap Mnjhgulwnhu 4/0 < hwwn 330 240 79,2
33141143 Ununghy 250,0 < hwun 168 500 84,0
33141143 Unuinglif 1 9L hwwn 680 240 163,2
33141183 Ybpwypdwu gnun 6G,8G 9L hwin 44 600 26,4
33141211 Shuwwnwhsh sbpdwiht pnue QL hwwn 2425 80 194,0
33141211 Unwpuwjww wwwlh 2(h$ nwowny G<L hwn 6,84 18000 1231
33141211 Twdlwwwlh G hwn 1,86 18000 33,5
33141228 hunhywwninp onwihtu unbiphhqugnuwing N1000 QL hwwn 6900 12 82,8
33141228 bunhlwwnnp gninpohny unbiphihquignuing <L hwwn 4800 6 28,8
33141202 Pufupubip < hwtn 2,8 60000 168,0
33711490 Muwhywlwlubp < hwin 0 12000 0,0
32351230 Mbungbl dwwuijbu 30*40 q< hwn 0 4000 0,0
32351230 Mteungbt dwwwbu 30*40 L huwn 323,3 1000 323,3
33141136 | Uuwhpwghnt Yupbnbp/wbph$biphy hwuwbjhniguwdp 9L hwn 0 50 0,0
3314136 | Uuwhpwghnt Ywpbubp/wtph$bphy hwuwithnigudp < hwn 405000 21 8505,0
33141136 Uhlypnlwpbnbp QL hwwn 0 20 0,0
33141136 Lbjpndhypnljwpbinbp <L hwn 0 50 0,0
33141136 Ltijpndhlypnljwpbintp L hwn 189000 32 6048,0
33141184 Lbypndplypnyw)tip < hwn 0 30 0,0
33141184 Lbjpnuihypngwytn 9L hwn 124900 13 1623,7
33141137 Pwintwht Yupbnp 3 < hwn 0 50 0,0
33141137 Pwintwih yuptinp OTW < hwun 0 5 0,0
33141136 Swyn Ywpbinp 2 L hwin 0 70 0,0
33141211 Twunwlh Supnn Yuwy qGL hwwn 0 50 0,0
33141211 “twuinwlh dugnn Yuwy < hwwn 3900 50 195,0
33111310 Hanuiywin unbitn 4 q< hwin 0 30 0.0
33141211 Eypnn nppdwywp dwdwbwlwynp uwpptipp X< hwwn 0 2 0,0
33141184 Ynpnuwp Juytip 0,4-0,5q < hwwn 0 120 0,0
33141184 “npnbiwp Juibip 0,4-0,5q <L hwin 26000 90 2340,0
33141184 Ynpntiwp Juybp CTO < hwwn 0 10 0,0
33141184 Ynpnliwp Juybp CTO < hwwn 40000 2 80,0
33141184 Ynpnuwp Ywitip CTO 1 < hwn 0 5 0,0
33141184 Ynpnuwp Yuwybp CTO 1 L hwun 55000 & 110,0
33141184 Ynpntwp Juybip CTO 2 < hwin 0 5 0,0
33141184 Ynpntiwp Yuykip CTO 2 < hwin 58000 2 116.0




33141136 Uhlypnljwpebnp Ynpnuwp wlnph Q<L hwwn 0 5 0,0
33141137 Punbwght wpbinp gwdpwpndhy q< huwin 0 60 0,0
33141137 Pwnuwiht yuwpbwp gwdpwypndhy QL hwwn 32000 30 960,0
33141137 Pwnuwiht Guptinp gwdpwpndh NC < hwwn 0 100 0,0
33141137 Punbught Ywphup guwdpwpndh| NC < huwin 32000 50 1600,0
33141137 Pwinbwht Ywptwnp gwdpupnp OTW < hwn 0 10 0,0
33141137 Pwnbwht Yuwptup gwdpwpndh| OTW L hun 32000 5 160,0
33141208 buwnpwrynwbp $hdnpw) (Ywnps) < huwiwn 0 4 0,0
33141208 buwnpwrynwbp $hdnpuwy (Ywpé) AL hwwn 10000 2 20,0
33141208 huwnpunymubip $dnpuy (Eplwn) AL hwwn 0 4 0,0
33141208 buwnpwnymubip phdnpuwy (Eplwn) A< hwwn 50000 2 100,0
33111310 Ut wbiph$liphly AL hwin 0 20 0,0
33111310 Uwnbkuwn whph$tiphy Q< hwn 250000 10 2500,0
33141137 hiwnwghnl Yuptinbp wbphbtiphly 9L hwn 0 50 0,0
33141137 Thpwinwghnt wplinbp whph$bphy R hwin 50000 25 1250,0
33111310 Nunnpnhs jwp < hwin 0 20 0,0
331310 Nnnpnhs jwp 9L hwin 9000 10 90,0
33111310 Ninnnpnhs jwp G< hwwn 0 4 0,0
33111310 Minnpnhs (wp 9L hwtn 29000 2 58,0
33111310 Minnnpnhs jwp G< hwn 0 2 0,0
33111310 Minnnpnhs jwp Q< hwwn 47000 1 47,0
33111310 Ninnnpnhs jwp < hwin 0 2 0,0
33191310 Yntwdl hwinwlny 114} thnpdwune q<L huin 0 500 0,0
38431710 Mhuybin wwuwnbph 4L hunn 30 1000 30,0
38431710 Udwnndwn whybivn Yupnghl 100-10004Y; QL hwwn 7790 4 31,2
38431720 Mhuybiwh Swypwnpp Shinpny QL hwwn 15,625 384 6,0
33141137 ‘Lbpwpguiunwiht ubpwpydwl jupbinbp L hwwn 5850 100 585,0
33141130 Swpw wwihgh ng untiphy 1004} <L hwtn 32 6000 192,0
33141410 Swpw wuwihgh uwnbphy 1004 <L huwwn 34 4000 136,0
33141202 EUS-h biljipnn L hwwn 50 20000 1000,0
33141202 EibYunpnn. wubinwiht <L hwwn 1920 50 96,0
33141202 Ejalwnpnn dwlbpbuwht dud/ogun i huwn 1150 72 82,8
33141202 Eiayunpnn wwuhy Q< hwn 28000 2 56,0
33141202 <nnutigdwl jwp q< hwwn 34000 1 34,0
33141136 Yuwphinbp Jhquiht bnwéjnin 206 <L hwwn 350 160 56,0
33141136 Yuwpbinbip dhquijht bnwénin 18G < hwwn 350 60 21,0
33141136 Ywphinbp wuwhpughnl 9L hwwn 103 1200 123,6
33141136 Ywpbinbp wuuhpwghnt Uu hwuwn 103 120 12,4
33141136 Ywphwnbip Eipnikynndhugh Sngwpinh wnhyh 9L hwwn 16500 15 247,5
33141100 | Ublwbgwijw oguwagnnddwl phup-tphq gynyndtivnph q< hwn 150 5000 750,0
33141142 Lbpwnlhsubp 50,0 9< | hww 90 3000 270,0
33141142 Lbpwplyhsubp 50,0 uu hwwn 90 300 27,0
33141142 Lbipwplhsutp 60,0 qc huin 100 800 80,0
33141138 Ywljnyw pewppywdlwhu < hwwn 200 1000 200,0
33141138 Ywjnyw ppwihu AL hwn 15000 2 30,0
33141157 Lownwplbip b uwypbip L hwwn 30 1000 30,0
33141112 Uwybinuup vwtnwyhly K hwwn 7 10000 70,0
33141110 dhpwlwwbp/ Hhuyuwluy 30420ud 4L hwun 650 720 468,0
33141110 Jhpwlwwbip/ Shwyuwlwy 30*20ud Ul hwin 650 72 46,8
33141120 Utindhsubip q< hwwn 80 1000 80,0
33141211 Buitg 6nnuwidph 3¢ | hwun 10000 100 1000,0
33141205 Eunnunpupubiwg junnnguly dwtdbnny QL hwn 450 500 225,0
33141205 Eunnunpuifubiwg lunnnyuly &< hwwn 500 80 40,0
33191620 Sujhsh pnine 9L hwwn 1200 120 144,0
33161100 Funnyhpwpnidwlwl Yupnn wnbin 24GH 9L hwwn 15000 25 375,0
33191310 Ynuwal hwwnwyny 114 thnpdwlnp < huwin 579 500 289,5
33121180 Snundbiuip unbnnuynuny < hwn 7000 80 560,0
33141121 Jhpwpnidwlwt phijip Mnigiwlnht 5/0 QL huwin 670 180 120,6




33141182 Tphuwd Bnwdnpwuh T-8U 9< hwuwn 6600 30 198,0
33141184 @nph npbitiwdh Gwjuu 9L hwwn 6800 30 204,0
33141182 fanph npbbwdubp 9L hwwn 4200 40 168,0
33141182 Npndwjuh npbuwdubn untinhy < hwn 1800 300 540,0
33141136 Yhtinpntwlwl Epwlwht Yupbnbp < hwwn 7200 50 360,0
33141155 Elynpnlnugnyjwghnt nuliuy QL hwwn 1000 500 500,0
33191310 Pnpdwunplbip pnpnupihwnwihu < hwn 60 1000 60,0
33191310 $npdwlunpubp wwundwub fwblnnpd 1,54 AL huin 10 6000 60,0
33191310 Prpdwlnph dbg npwbuwnpuwh udnid QL hwn 150 1000 150,0
33141183 2nun. unwdnpuwhl QL huwin 103 1000 103,0
33141211 Ganinh thwlwny 9L hwwn 180 200 36,0
33141211 Mhwhnubp ELU <L hwin 200 500 100,0
33141179 budtijinindwwnh hwywpwdnt AL hwwn 28 000 80 2240,0
33191620 O 4S% 150110 < hwn 2600 60 156,0
33711490 Muwhwywbwyubp L huwn 60 12000 720,0
33141157 Uhypnunndh obinp QL hwn 1300 300 390,0
33191280 Muwpwhhtiwghipd danwnulwl Yunwwwn G< hwwn 21 000 3 63,0
33191620 Uwwt bbipddnn quiiwhwphbiep GL hwtn 1 500 50 75,0
30232160 2bpdwht nwhs EUs hwwn 500 000 1 500,0
33191480 Lbpwplwl uwpp Ynunpuunwht bnyah 2k hwin | 12 500 000 1 12500,0
33141202 Ebywnpnn wubinwihu Funs hwwn 1920 50 96,0
33141202 Eibywnpnn dwibpbuwht dud/ogun tus huwin 1150 72 82,8
33141202 <nnuitigdwl jup Lus hwwn 34 000 1 34,0
33141202 EibYwnpnn. wwuhy Eus hwwn 28 000 2 56,0
33141138 Ywijnyw peuwhl [=¥1a) hwin 15 000 2 30,0
33191310 Ynbwdl hwinwyny 114; thnpéwlinp 2V hwwn 579 500 289,5
33141142 dwubh ubpwplyhs EUs hwwn 25 000 3 75,0
33111490 £4U ownwp dwpdup hbnwgdwt Ytnhy Eun hwwn 2 000 50 100,0
33141211 Upunwddhy Ynwgnywnnph dblubiqudjw dwipwnhp Eus hwin 8 000 100 800,0
44311290 Lbjunpwityupnn/ wwuhy Bblnpnn EUS hwin 1500 50 75,0
30237475 bpdwjht nyghs EUs hwn 100000 2 200,0
38431700 nwywdpwpwltiwlwl Ywutitntbin EUS hwwn 50 2000 100,0
33171500 Fuhrynipw wugguiwguiwl hwywpuwdnt EUS hwn 4500 250 1125,0
33141179 Pdolulwt hwlwpwdniubp wughngnwhhuwyh hwdwp EUS hwwn 19800 480 9504,0
33141184 Ufuwnnpnghs ninnnprhs hhnpnghy -0,018 | LUs hwwn 16000 30 480,0
33141201 Puwfupubip uu hwwn 6 16600 99,6
32351230 Nbunght dwwwytu 30740 (N 100) uu hwn 38500 15 577,5
38431700 Uhlypnuindh otinp NSO Uu wnnuh 65000 3 195,0
33141142 Lbpwplhs 1g UU | hun 20 5000 100,0
33141121 dhpwpnidwlwl gl wnihwpnwhibu uu hwwn 315 312 98,3
34141173 Uligpuinnitihg uu hwwn 51 1800 91,8
33141140 Uuwhpwghnt fupbup uu hwuwn 103 970 99,9
33791300 Pnpnupipwinwht thnpéwlinp Ul hwwn 60 500 30,0
33141149 Shunnyuhtt wubmubp qupytipwluwiht Ul hwwn 200 250 50,0
33141149 Shunnyuwihti wubnubp Bpwluw)ht Uy hwwn 200 250 50,0
38431700 Frapdndwywdbu uu hwwn 3400 70 238,0
31651200 EUS dwwywybu58420 uu hwtn 900 450 405,0
38431700 Ewbnnpd/ wenpnuinp wwpwguw uu hwwn 10 2000 20,0
38431700 f@nine 4SS 150°110 uu hwwn 2600 20 52,0
24931500 Eplwlyhs uu hwwn 8100 12 97,2
24931600 Yuymtignighs uu hwwn 8100 5 40,5
33141183 Uwnwdnpuwiht gntin Uu hwwn 103 970 99,9
9221200 Muwpwbhu uu g 3350 40 134,0
35121290 Syhs SPO2 NEO 3 uu hww 15000 6 90,0
44611130 Lhpnywjgbinh wpubunuup Uu hwn 2550 20 51,0
38581200 Mhungbth ghubpwwnnph ybpwhuldw uwihly Ul hwuwn 480000 1 480,0
Cunwdkup 574620,4
£pUbuuUL L3NKRLN
33211450 | Uypnuihu [ a< | ptup 0 [ 7000 | 00




33211450 Ugpnudht L | phup 11,04 1000 11,0
33211430 Uipw widpjuqu L phup 0 2000 0,0
33211430 Upw wihpuqu < phiup 169,8 1000 169,8
33211410 Uuyywpnwwihunnpwiudbipug AST <L Rhup 0 7000 0,0
33211410 Uuywpunwwdhtunnpuwliudbipug AST 9L phup 21 4500 94,5
33211420 Wwuptwdhununpwudbipw ALT & phiup 0 8600 0,0
33211420 Ujwithtwdhuninputiu$bipw| ALT < phup 21 5500 115,5
33211140 Phihnnipht/Cunhwnip W ninhn phihnatphtp npnpudwl 9¢ - 0 21000 0.0
phup-hujwpwdnt
sama0 | FripenehWCRhwbng U nuhn phibnaighth npnzduti | q 0| opyg 20,6 15000 324,0
phup-hwdwpwdnt
33211340 <hdngnpht QL phup 0 8000 0,0
33211340 <hdngynphu < phup 5,85 800 4,7
Utnhwupphtu MediScreen /Ubgh db qyniyngh bt
N wabtnth npnodwl ehiup unphwlbph hwdwpwdnt o i e i i
UGnwu iScreen 9 Gyne Wb,
uwhwnwlmgh, pH,Ytwnntiubph, nbuwlwpwp Yonh,
33211110 upwnphwutiph, Eynghwtbiph, ninnpnphthgbuh b 9L phup 65,4 5000 327,0
phihantuhth npnpdwt phue unphwltph hwjwpwdn
CYAN strinnnunuunh hunliun
33211160 Ypbiwinhuht CREA-Col/ Ypbiwwnhuhtp npnadwl phup L prhup 9,15 25000 228,8
33211160 Ypbiwinhupt Yhuwgw q< phup 150 2000 300,0
33211310 fIpndpnuywunphup npnadwl phupe hwwpwdnt < phup 50 24000 1200,0
33211311 (Ipnupnuwywuwnhth npnadwt phup hwwpwsnt uu phup 50 2400 120,0
33211150 | Uhqulynie Urea-Col / Uhquityniph phiufe - hujwpuwdnt q< phup 2,7 15000 3255
33211320 Chuunnhin C dhpniuh wunhaiah npwuilut 9¢ | pbup | 10296 | 8000 8237
hwpnbwpbipdwl phup
33211320 Zhuyunnhen B dhpnwh wianhgtish apuiulul 9< | pup 66 8000 528,0
hwinbiwptipdwl ptup
saamazo | owehn C ipuh winnhqblh - hupntupbndub 9< | ptup | 10417 1728 180,0
phup
saanazo | <Bwwnhn B uhpnuh ““;‘L‘h"'buh huypnbuwpbpduli 1 g | paup | 113,75 1728 196,6
33211130 funjbuwnbipn| CHOLESTEROL /Cunhwunip funjuntiphth ac Pl 0 4000 0,0
bup-hwywpwdnt
33211130 tunbuntpn CHOLESTEROL /Cunhwunip funjtiuntiphth — 21 1000 2.0
phup-hwdwpwsnt
33211130 tunjtunbipn /HDL- funjiunbinhu 4L phup 0 400 0,0
33211290 Ywihnuwih npngdwt phiup-hwwpwdnt L phiup 0 18000 0,0
33211290 Yuwihnwh npnodwt phiup-hwdwpwdnt L rhup 93,6 1000 93,6
33211300 Ywighnuih npnauiwl pliup-hwywpudnt 9L phiup 0 3000 0,0
33211300 Ywighnuih npnpduil phiup-hwywpuwdnt Q< phup 21 1000 21,0
33691162 Lwwnphnul QL phup 0 800 0,0
33211290 Lwwnphnu QL phup 319,95 200 64,0
Zuwunpbwyunnnhah-0 Anti Streptolysina-
33211260 | O/<wlwuwnpbynnihght-0 npnauwl phue-huwpwdny/ q< ptup 26,4 1500 39,6
S Ghu uAS_(r)Ll?!ﬂ in-Col/Crhwl
nunw| wpnwnbihu-Yng Total protein-Col/Cnhwtnip
1 7 )
s uwhnwlnigh npnodwl phue hwjwpwdny * paup g i 00
33211270 Snunwy wpnnbiht-lng Total protein-Col/Cnhwunip ac plup 3.88 3000 26,6
uwhwnwlnigh npnodwl phue hwdwpwdny
33211470 SpnwnUpb/whuw.Unietip/ Q<L phup 0 1000 0,0
33211470 Spnwntiht/wuwn . Unyatin/ QL phup 322,8 500 161,4
Hudwmnpn $wlunnp Cwinkpu Rematuoid factor-
33211240 lex/MNudwinnhrnwiht $wlynnpubph npnadwts phiupe- < phup 25,68 2000 51,4
huwopwdny
33211120 Gynilyng G-col/qyniingh npnadw phup-hwywpwany QL phup 0 25000 0,0
33211120 Gyniyng G-col/qyniyngh npnpdwl phup-hwywpwsény L rphup 9,24 15000 138,86
33211250 S-nbwlnhy wpninbhu-punbipu C-Reactive Protein-lex/C- ac it 25,68 15000 3852

ntwlunpy uhinwlngh npnotwl phue-hwdwpudnt




MFN-Ywppnt RPR CARBON/Uh$hihuh npnpdwl phupe-

33211230 < phup 33 5000 165,0
hwywpwdny/
33211190 8nihynt wuwnh-A /wpywl fudph || npnpdwl phup 9L phup 2,4 12000 28,8
33211200 8njhlynt wlinp-B /wpywt fudph 11l npnadwl piup 9< phup 2,4 12000 28,8
33211200 Snihyintt wuwnh-AB < phiup 3,96 1000 4,0
Sn{hlyint wlnh-Unuybip/ rh D nbignw hwdwlupgh
Q< ] 4,8 12000 57,6
B winnhabih_npnodwy phue i
Bnihynt whwnh-Unwytip/ rh € nbgnw hwdwlwpgh
33211210 uilantiahit niskeh 9< phup 9 1200 10,8
33211180 Sphqaghphn TRIGLECERIDES/Gngihgtinhnh npnzdwu ac bup 0 2000 0.0
phup-hwjwpwdnt
33211180 Snhaiaghphn TRIGLECERIDES/Gngihgtiphnh npnpdwt a¢ — 45 500 25
phup-hwdwpwdnt T
Mpnunwwn uwbigh$hly wlinhgbuh npwlwlwl npnpdwt
72
SARI1Ad0 phup- hwwpwdny/PSA punhwunip s i ? L oo
Mpnunwin uwbgh$hy wuwmhgblp npwlwlul npnadwt
33211330 9L bi 127,5 384 49,0
pbiup- hw]wpwdnyPSA nbnhulinin paue
33211350 f¢hpinupny hnpunu HTSH < phup 0 2304 0,0
33211350 @hptninpnuy hnpunt HTSH 4< | phup | 13563 1824 247 4
33211370 @hpopuh T4 qc | phup | 171,875 384 66,0
33211370 Uquw phpopuhts FT4 QL pbup 159,375 1152 183,6
33211380 bnynnphpnup T3 QL pbup 0 288 0,0
33211380 Gnjnnphpntiht T3 qc | phup | 177,083 192 34,0
33211380 Uguin tingnryphpnupt FT3 K phup 165 288 47,5
33211390 | Anti TG-<wlwdwpdhtubip phpingnpnyhup Uwndwdp < phup 165,625 576 95,4
33211390 AR TRO- St sy hpbnuinopuiagh q< | ptup | 1625 960 156,0
tlunndwdp
33211280 Ppnigbingh npnodw phiup hunjwpwdnt < phup 0 200 0,0
33211280 Ppnigbingh npnoudwt phup hunjwpwon q< phup 240 150 36,0
33211170 Upaupns UricAcid Bl rpa ol phup: 9¢ | pup | 262 1500 39,3
hwdwpuwdnt
33211430 Suddw gynunwdhy wpwbubbpwqu Q<L phup 58,5 1000 58,5
Lwpnpwwnnp wgnuunipbp/nbwgbuwnutip/ [dtup
33691162 100 J
Ynwlpnu pwplidwd wpnitp npnotiint hwdwp = Bl 918 0 e
33691162 Lwpnpwwninp wgnwunipbp/ntiwgbiinubp/ LDH-L q< phup 0 2000 0,0
33691162 Lwpnpuwinnp wqnwunypbp/nbwgbunttp/ LDH-L q< phup 24 1000 24,0
33691162 Lwpnpwinnp wgnwujnpbp/ntiwgbunttip/ Snudnp Q<L phup 35 1200 42,0
33691162 Lwpnpwinnp wgnwunetin/nbwgbunubp/HIV- ahUL QL phup 1776 5000 888,0
33691162 Lwpnpwinnp wgnwjnipbp/nbwgblntbp/MMd 9L phup 45 8000 360,0
33691162 Lwpnpwinnp wqnubniptip/nbwgbunubip/Uwgtbghnuh ac it 30 1000 30,0
npnadwu Rhup
33211430 <hdu. $nudwinwquih npngdw huwpwdnt < phup 34,8 200 7,0
33211500 S$hphwinhu < phup 318,75 576 183,6
33211500 Lhjhynpwlnbp L phup 0 576 0,0
Lwpnpwunnp wqnubnyabin/nbwghntbp/ Ynunpng
33691162 it v 51 9L phup 6936 1 6,9
Lwpnpwwnp wqnuwujnipbp/nbwgbinttip/ Yntinpn
69 1 9
. indnypubp ns tnpdw) Sd) 9% R 6 g
33211500 Upyniuwpwiwlwt wuwihquwnph nbwlnhdubp- a< . 0 60 0.0
Lnidhs+wwinnn-20
33211500 STl AR s B - Q< | hum | 138000 40 5520,0
__Lnidhs+wwinnn-20
33211500 Upjnitwpwiiwlwl wbwihquinnph nbwluwhyubp-HGB - ac i 0 18 0.0
puwipwinn nbwaqbtun-3.8)
3311500 | Rl wwihquinorh ntwlunbdUbp-HGB - 1 q 0y 0 | 145200 6 871,2
pwipwinn ntwgbitn-3.8)
33211500 Upnitwpwhwlwt wbwihquunnph nbwlnhyutp-WBC ac b 0 40 0.0
pwijpwinn nhwghbuw-3,8
33500 | Crnwpwlwywl wuhquunnnh nbwnpduen-WBC | g ), | 90600 28 2536,8

pwipwinn nbwabuwn-3,8;




Upnitwpwlwlwl wuwihquinnph ntwlnpyutip-

33211500 0 0 i
Eughtwinhl ntrugblun-100d; b : g
Upjniiwpwwlwl wbwihquinnph ntiwyunpdubp-

33211500 4 h 640 ]

Eughdwnhl ntiwgbtin-100d; = e R0 2 i

33211500 Upniwpwlwywl whwihqwnnph nbwyunhyttip- a< i 0 0 0.0

Ywihppwwnp pwpunphy
amnsor | UnUwpsbbul “l‘l“‘;“r“hq“‘“‘”“h WL pORLRY ac | phup | 403200 4 1612,8
__lwjhppwuinnp pwnwinnho

33211500 Upjniuwpwiwlwl Luhunlhqmmnnh nbwlwnhyubip-ubtunp ac plap 0 2 0.0

33211501 Upyniiwpwtiwlwu wbmms:ntnnh nbwywnhyubip-ubunp ac i 147000 ; 10290

33211470 Spnynupt | 9L phiup 2100 3000 6300,0
Mpnunwn uybigh$hly wuwnhqbh npnadwt phiup

33211330 hulwipuidniPSA Q< phup 1800 200 360,0

33691162 | Lwpnpwinnp wqnuyniphip/nbwgbunutp/ Lhunwdhu D Q< phiup 2400 200 480,0

33691162 Lwpnpunnnp wanwnpbp/nbwgtuntbp/ D-Dimer Q< phup 199,8 100 20,0

Lwpnpwnnp wqnubnyebp/nbwgbuntbp/
691162

33 aihunihquiiusd hisnagnpht 9L rbup 1800 100 180,0

33211250 8-ntiwlinhy wpninkihu <L phup 1800 100 180,0

33691162 Lwwphnipbinhly uwhuwlynig QL phup 2400 50 120,0

33691162 Ynpuwnhgny QL pbup 2400 50 120,0

33691162 Mpnywightntpl 9z | pbup 2400 150 360,0

33691162 UhUpnuwipnuiht dtgh dbg 9 | pbup 1800 25 45,0

33691162 a-phnuypninbpl B phup 1800 25 45,0

33211350 (@hpbinunpnyy hnpdnu < phup 0 50 0,0

33211350 f@hptinunpnyy_hnpunu q< phup 1800 25 45,0

33211370 fahpopuptu T4 punhwlnip < phiup 0 50 0,0

33211370 f3hpopuht T4 plighwlnip 9L phup 1800 25 45,0

33211500 Mpnwlwhl Q< phup 1800 25 45,0

Cabas e 411 Eltljuhu pwnap qguyunipjwt Spnwyntp T
91 1 )
i = pwitiwlwlwl npnodwt phup hwdwpwdnt i i 9 2 o8
obas e 411 Elbljuhu pwpdn qqujuiniejwl Spnwyntht T
33691162 B R B 9< hwn 118100 2 236,2
33691162 Cobas e 411 Eitiljuhu pwpdn qquitnyzjwl Spnunuht T ac i o 3 0.0
Mi? nwmn% u S upt T
Cobas e 411 bljupu pwpap qquiinpju Spnwn
3691162 Q< 25800 1 25,8

¢ Ywihppwunnp i

33691162 Cobas e 411 fjijuhu wpbuplntnpng Spnynthl QL huwin 0 2 0,0

33691162 Cobas e 411 Ejliupu wpbuhlntinpng Spnwynupu < hwn 21700 1 2,7
Cobas e 411 Ejiluhu wquin phpopuhth npnadwu

69 8: 6 230,4

33691162 tiliisni < hwin 38400

33691162 Cobas e 411 Eijupu wquin phpopuptip uihppwinnp QL hwn 0 2 0,0

33691162 Cobas e 411 kjjjupu wqwwn phpopuptip wibppwinnp 9< huwin 27700 1 27,7

33691162 Cobas e 411 Ejljuhu phpinunpnuy hnpdnup pwtiwlulwl ac - 0 7 0.0

npnodwl phun-hwwpdnt

33691162 Cobas e 411 Ejayuhu phptininpnuy hnpdnth puwbiwluluwl a¢c b 23600 4 94.4

npnoduwits phun-hwywpdnt

33691162 | Cobas e 411 Ejijuhu phptininpnyy hnpdnup Yuihppuwnnp Q< hwwn 0 4 0,0

33691162 | Cobas e 411 Ejtijupu phptnupnuy hnpdnuh Yuihppwnnp Q< hunn 21500 1 21,5
Cobas e 411 Ejlijupu <wlwphpnhn wbpnpuhnwah

9L hi 39100 1 39,1
A huwluiwndhbutinh pluw hunjwpuwdnt =
saeontey | Cobes @ 41T Rifuhu Zulughnahin winpupruugh 9< | hun | 24200 1 24
hwlwdwpdhutubiph Ywihppuonp
Cobas e 4 uhu inhpGnginiphhtuh Lljwwndwdp

33691162 hwlwdwpdhutbph pwbwyuwywu npnadwl plun- < hwn 62300 1 62,3

hwywpwdnt

33691162 Cobas e 411 Ejjuhu mhpbnqlmph[hbh qumdwdp ac —_ 26900 1 26,9

hwywdwndhtlb

33691162 oo 41 et umuanhnin nn 9< | hwa | 93900 2 187,8

pwtiwlwlwl npnodwl phiun- hwdwpwdnt




Cobas e 411 Efiljupu Mwpwinhptnn. hnpdnth

33691162 QL hwn 0 2 0,0
Lwphppwinnn
33691162 Cobes ¢ 411 ybljupu Mupunnhpfn hpdnf o< | hun | 26900 1 26,9
Ywphpnwwnp
33691162 Cobas € 411 Ejlijuhu wpbuhyntinpny Thyro Ab-h 4L hwwn 70400 1 70,4
33691162 Cobas e 411 fljuhu wpbuhyntnpny Ywphw QL hwiwn 61000 1 61,0
33691162 Cobas e 411 Bikljupu uhuiny AL hwn 4500 5 22,5
33691162 Cobas e 411 Ejluhu Ynwjtinbiph pwihdwl wpln < hwn 0 1 0,0
33691162 Cobas e 411 Eilupu unmghsh wunpubiph hwywp < hwtn 0 1 0,0
33691162 Cobas e 411 Ejljuhu Swypwnhpubp < hwin 0 2 0,0
33691162 Cobas e411-h wwppbpwlwl nbjubhlwlwy fuuwdph ac hwn 0 i 0.0
hpwlwliwgnuf
33691420 Ubiwwly XP-300 9Z | hwwn 0 180 0,0
33691420 Ubjuyuwly XP-300 Q<L hwwn 21000 100 2100,0
33691420 Uwnpndwunnjuyglip-WH XP-300 G hwwn 0 50 0,0
33691420 Uwnpndwunnuygbip-WH XP-300 QL hwuwn 120240 40 4809,6
33691420 Ubiypihtu XP-300 <L hwwn 0 13 0,0
33691420 Utijjpjhts XP-300 9L hun 42600 10 426,0
33691420 | f@nine Lwjuwnbuwd ghpdwiht wwhgh hwdwp XP-300 | 9< huitn 534 200 106,8
33691420 Uhth Ungln XP-301 q< huwitn 90 2000 180,0
Cobas e 411 Eliljupu Snjwppdh pwuwlwlwl npnadwl
691162 7 7
3369116 gm0 <L hwtn 9700 1 79
33691162 Cobas e 411_Ejiljuhu $njwppdh Ywihppuwnnp 92 | huwwn 26900 1 26,9
33691162 Cobas e 411 Ejkluhu Jhunnwdpt B 12 pwhwlwljwl ac i 38300 ! 38.3
npnodwl phun-hwywpwsnt
33691162 Cobas e 411 kjbljupu Jhnwdht B 12h Ywihppwinnp < hwin 26800 1 26,8
33691162 Cobas e 411 Mphuhlyntnpng niuhybipuwy QL hwtn 25800 2 51,6
33691162 Cobas e 411 Mptupyntnpn dnyinhdwnpybn Q< hwn 0 2 0,0
33691162 Cobas e 411 Ejbljupu nidhy dnywnp < hwwn 0 1 0,0
33691162 Cobas e 411 Eililjupu (ndhs muhybipuw Q<L hwn 0 2 0,0
Cobas e 411 Ejahuhu Ywihppwwnnph wunplbiph
1 9L 1
33691162 Faualiin i hwn 0 0,0
33691162 Cobas e 411 Ejiuhu unnighs wunpubiph hwywpwadnt Q< hwwn 0 1 0,0
33691162 Cobas e 411 ISE upulyjpi QL huwn 0 1 0,0
33691162 | Cobas c111 Phul- funjbiuptpng npngdwt ptiup hudupwdn | 4< hwwn 0 2 0,0
33691162 | Cobas c111 PHuL- funiupbipn) npnadwt phup hujwpwdnt|  9< hwn 41700 1 M1,7
33691162 Cobas c111 Ywihppwinnp thuhnubiph hwdwp 9L hwin 17700 1 17,7
33691162 Yihuubig Q< huwin 0 7 0,0
33691162 Mpnubig 9L hwwn 0 7 0,0
33691162 el 1 QC-Uwlwpnuwl 2 < hwwn 60000 1 60,0
33691162 Zungbl iy 12V/20W Lwfuwwnbiuwd cobas c111 uwpph ac — 54000 5 108.0
hwdwp
33691162 | Uywhywwnnp bwhiwnbujws  cobas 11l uwpph hudwp QL hwin 36000 1 36,0
33691423 el 1 Cartridge 600 QL hun 240000 12 2880,0
33691423 el 1 Cartridge 300 L hwin 0 6 0,0
33691162 ‘Lnupwgunn htinniy NaCl 9% Q<L hunn 14600 1 14,6
33691162 Guhppwinnn Ujnye bwfuwnbudwd phnphdhwljwl a< hutn 0 5 0.0
phuwtiph hwdwp
sseottey | berwnn nge Uwhuwnbudud phophdpuliul | g | huin | 34700 1 347
phunbnh hwdwp
33691162 | Lywgnn htinniy cleaner cobas 111wlwihquinnph hwdup hwwn 14100 8 12,8
33691162 Uwnnighs binie wpbuhlyntunpng dnywh | Q<L hww 7560 1 7,6
33691162 Uwnnighs Uiz wpbuhlnuwnpng dnywnh 2 QL hwin 7560 1 7.6
33691162 Ynpwu udnh wunpubp l:‘wh:u::\hm{wb cobas c111 uwpph ac i 0 2 0.0
assoney |  LAvmnvan wdpunnpulubbnuio sl A | g | huwn | 17900 30 537,0

hwywpwdnt




Wwuht wihtninpwiubinwg npnadwt phuwn

33691162 9L hwiwn 17400 30 522,0
hwywpwdnt
33691162 Uhqutiynyeh npnglw plumn hwywpwdnt &< hwn 0 30 0,0
33691162 Uhqutyniph npngtwt hiuwn huywpuwdnt QL hwwn 18300 20 366,0
33691162 Cunhwnin uyhwnwynig npnadwl phiun hwdwpwdnt 9L hwn 21700 10 27,0
33691162 Upw wihjwg npnodwt phun hwywpwdnt < hwn 42700 12 512,4
33691162 Uipnuwiht npngduwits phiun hwjupwdn a< hunn 18400 10 184,0
33601162 Fownpninbhuhqugunn hinml wfuwnbujws  cobas clll Q< . 6700 6 402
uwnph hwdwn __
33691162 Mawlghnt Gnutuntbiph hwwpwdnt Uwfuwnbiudwo Q¢ hun 63800 18 11484
cobas 111 uwpph hwdwp
33691162 Ypbiwnhupt npnpdwl phiun hwywpwdnt <L hwwn 15500 20 310,0
33691162 Gyniyngh npnatwls phiun hwyjwpwdnt AL hwun 0 60 0,0
33691162 Gyningh npnpdwl phiun hwwpwdnt <L hwwn 16400 40 656,0
33691162 tunjiunbipht npnadwl phun hwywpwdnt 9L hwn 16000 2 32,0
33691162 Sphathgbiphnubiph npnadwt phuwn hwywpwant QL hwn 16000 2 32,0
33691162 Ninnwyh phihaniphtuh npngdwt phuwn hwywpwsdn QL hwwn 10500 20 210,0
33691162 Cunhwunip phihnniphth phun hujwpwdnt < hwn 22100 20 442,0
33691162 | Lwlwwin nhhnpngbtwgh npnpdwl phuwn- hwwpwant Q< huwin 19700 157,6
33691162 Ypbwwnht Yhtiwquigh npnadw uihppwnnn < hwn 0 8 0,0
33691162 Ynbiwwnht Yptiwquih npngdwl juihppwinnp GL hwun 34700 6 208,2
33691162 Shpphungbuh npnadwt phun hujwpwdnt A< hwun 154080 8 1232,6
33691162 Uwnnighs imdnuyp start 4 coag hwdwp <L hwwn 0 1 0,0
Cobas e 411 Elecsys 2070 EEGuhu nhnipjul Rt
33691162 | wungugywd wwqduyht uwhunwynigh npnadwl wkun q< wnuth 229200 21 4813,2
hwuwpwdn
Cobas e 411 Elecsys 2010 Eluljuhu kiyuhu <nhnipjui hbin
33691162 wunguigUwd wwqdwiht ushunwymgh Yuihppunop < unup 26900 2 53,8
33691162 Cobas e 411 Elecsys 2010 free hCG+B puitiwljuljwl ac it 164300 21 3450.3
npnodwl phutn-hwwpwdnt
33691162 Cobas e 411 Elecsys 2010 free hCG+B Yuihppwwinp QL unnith 26900 2 53,8
33691162 Cobas e 411 Elecsys 2010 Ejtijuhu wpbuhlntunpng ac wrwch 162300 3 4869
Jwipwlwu fubwdp
33691162 Cobas e 411 Elecsys 2010 kEjlijuhu Lnihs niuhytipuw 9L wintth 14600 1 14,6
33691162 Cobas e 411 Elecsys 2010  Ejyupu Yuihppwinnph ac i 26900 i 26,9
wlinputinh hwjwp
13691162 Cobas e 411 Elecsys 2010 hwtl:‘lquhu unnighsh wunpubiph ac o 18100 1 18.1
33691162 Cobas e 411 Elecsys 2010 Ejbiljupu ISE uhulypt 9L nntth 17500 1 17,5
33691162 Cobas e 411 Elecsys 2010 Unwuwwbip Uhuph q<L hwwn 0 1 0,0
33691162 Cobas e 411 Elecsys 2010 kjljuhu uhuyn2 9L hwin 4500 4 18,0
33691162 Cobas e 411 Elecsys 2010 kjliljupu Mpnubig <L winuh 21900 10 219,0
33691162 Cobas e 411 Elecsys 2010 Ejtiljupu Y4jptuby 9L winth 21900 10 219,0
33691162 Cobas e 411 Elecsys 2010 Ejyuhu dhypnlynu/bntibin <L wnih 41300 2 82,6
33141100 Cobas e 411 Elecsys 2010 Ejtijupu duypunhplbp G< nnup 41200 3 123,6
33141211 Uhypnlgnujbwnttiph U dwypwnhpubiph puithntibph ac il 0 1 0.0
wnwnwbip

33141211 Cobas e 411 Elecsys 2010 Ynpwu Udniph wunpltip <L innuh 0 1 0,0
33191310 Upywt tiniuindwl Jwlnidwiht thnpdwunp Q< hwwn 93,6 2000 187.2
33141211 Uubinubip Juinunwubipiph hwdwp <L hwwn 25 2000 50,0
33141211 Unuiyunnp Julnunwjubipubiph hwdwp b hwwn 0 2000 0,0
33691871 Upihywgbih dwuthlubpny Yuwini jnidnyp 80% QL Uy 2400 200 480,0
33691871 Up(hywabih dwuthyubpny Yugniu jmdnyp 40% L g 1750 200 350,0
33691167 Lyhtip Yunwpbiwgnpddwl dhowdwh L hwun 68000 10 680,0
33211450 Ujpnuihl < phup 0 7000 0,0
33211450 Ujpnuip 9L phiup 10,92 4000 43,7
33211430 Wipw widhpuqu QL phup 168,9 2000 3378
33211160 Upbwwnhluht CREA-Col/ Ynbwnhuhuh npngduwi phiup Q< phup 0 25000 0,0
33211160 | Upbwwnpupt CREA-Col/ pbwnhuhh npnpdwl phuge s | pbup 8,82 21000 185,2




Lbywwinhw C Uppmwh winpgbiih npuljwljut

33211320 b it 9 | phup 100 8000 800,0
sazmszo | <Bwwwhin B hpnuh “;:'Sﬁl’h i e | it 110 864 95,0
33911130 tunjuwnbipng CHOL::JE_}:S‘L ﬁl)’.‘bz:;ulhnm funibuwnbiphup qc il 0 4000 0.0
33211130 funjtiuntipng CHOLESTEROL /Cunhwunip funjuntphup ac i 18 2000 36,0
phup-hwywpwdnt
33211290 Ywihnwh npnauwl phup-hwywpwant QL phup 0 18000 0,0
33211290 “wihnuwh npngdwl phup-hwywpwant L phup 153 4000 612,0
33211300 Swighnuwih npnpdwl phup-hwywpwdnt Q< phup 0 3000 0,0
33211300 Ywighnuih npngdwl phiup-hwywpwsdnt 9L phup 19,8 1600 31,7
Lwlwunpbiyunninhght-O Anti Streptolysina-
33211260 | O/Cwljwunpbwynnihght-0 npngdwl phup-hwywpwény Q< phup 26,88 1500 40,3
ASQ/ latex
33211470 Spnwynuhl/whuwn.Ujnyabip/ Q< prhup 321,6 1000 321,6
MHudwwnnhn Pwlinnp Lwwinbipu Rematuoid factor-
33211240 lex/MHudwinnprughts $wlpinnplibiph npnadwl pliup- Qg phup 24,48 2000 49,0
hwdwpwdny
3-ntiwlwnhy| ypnuinbhl-juntkipu C-Reactive Protein-lex/C-
33211250 bl unfnadivioh opmalonts plopd e e phiup 24,24 15000 363,6
33211190 8njhynt wuwnp-A /wpyw fudph Il npnadwl phupe <L phup 2,31 12000 27,7
33211200 8nihyinu wunh-B /wpjwt fudph 1 npnpdwl phup < phup 2,31 12000 27,7
8nihyint wuwnh-Unwytip/ rh D nbgnw hwdwluwpgh
33211220 B . Q< phup 4,44 12000 53,3
amairgt | SPORSNAR TRIGLECEEIDES bnaganimpapogdits | | iy 39 2000 78,0
phup-hwdwpwdnt
33691162 Lwpnpwuinnp wgnwjnyetip/nkwgbunutp/ LDH-L 9L Rhup 38,4 2000 76,8
33691162 Lwpnpwnnp wqnwniebip/nbwgbtinubip/HIV- 2hug L phup 175,2 5000 876,0
33211430 <hdu. $nubpwnwquih npngdwl hwduipwdnt Q< phup 39 200 7,8
33211130 hunjuwbipny /HDL- junjuwnbiphu 9L phup 240 400 96,0
33691873 Eunn wqup < g 51000 2 102
33691873 Uqup Uwpnipn < g 36000 2 72
33691163 Uquwp Ujnytip <hupntih 9L ug 48000 1 48
33691163 Cnynpunuihu wgqwp < hwun 498 60 29,88
33691163 Suwquihtl iwnbnpn wuwkpnp < hwwn 0 30 0
33691163 Uwlihun wnuiyht wiquip 9< liq 30720 3 92,16
33691160 Fyniynqui < g 10000 1 10
3369116 <hhynpwlwnbp phup Q< huwn 0 50 0
33691874 Ugbunwun wgwp 9L yg 0 1 0
33691874 Ugbuwun wqup A< ya 52000 0,5 26
33691872 Uuw whwwnnuwiht Yud snp ulingnn wqup L Ug 48000 1 48
33691163 Eunbipniynly wquwp < Uag 108000 1 108
33691163 Ynuwnphnhnud wqup 9< g 0 1 0
33691163 Yinuwnphnhnud wqup QL Ve 54000 0,5 27
33691163 Unphihrh pbup wqup L Ug 0 1 0
33691163 Unphihph phup waup qs Uq 87000 0,5 435
33691163 XLD wquwp A< g 57600 1 57,6
33691162 Owwinfuhu nhuly < hwin 105 100 10,5
33691162 Puwghwpwght nhuy < hwn 80 100 8
Cwlwphnunhlwqqujunyejwl uljuwdwnwyutp/

33121270 Hilogebafifsinulniepsny < hwwn 16 100 1,6
33121270 <"‘"‘””“""'"”““‘3‘:’“""°’“‘J‘ Gt 9< | hwn 16 300 48
33121970 <wl4wphnu1hl|wqujnmpng ulwywnwlutip/MEuhghht ac hwn 16 200 39
33121270 ml"“"h""‘h“‘“ﬁ“f"?‘fz;l'“’q“’"‘“l‘“b"/ ac | hwn 16 200 32
33121270 gl autoeeils adaul i 9¢ | hww 16 200 32

Shbnuwpuhd




Cwlwphninhlwqgquiunipjwu uywywnwlubp/

q< h 16 2
33121270 Slsiiahibi wun 200 3
33121270 Cwlwphninhlwagujunipjwu ujwywnwlubp/ ac il 16 200 32
Ubpnutiutid
33691160 hdhwbubd Q< hwwn 0 200 0
33691160 hdhwtubd < hwwn 16 100 1,6
33121270 Zwlwphninhlwaquiunpjwt uwlwnwyltp/ 9¢ — 6 200 32
Uopuhbjopuwahl
33121270 Slpughpehlyuaquylinipgilh utempumy/ 9< | huwn 16 200 32
Lnnmnnuumhh
33121270 Lwlwphnunhlwqquitnipwt uwdunwlubp/ ac Vi 16 200 32
Shwpndnpuwghts
Cwlwphnuihjuqgquijinyagut
3,2
" ulwdwnwubin/Linhinpuwght = T i i
33121270 Luwihnhpuwppnt QL hwwn 16 200 3,2
Lwlhwphnnhlwagqujunipjwt uwywnwlutp/
L »
33121270 A - hwn 16 200 332
33121270 Cwlwphninhlwagwjunipjwl ulwywnrwlyutp/ ac B 16 200 32
T l:nhm{'mﬂhqlilh 1
wlwphnnhywagwunipjwt ujwdwnwyubp/
3312127 ;
0 bbby q< hwn 16 300 4.8
33121270 Sl sphineil e aaust Uy oy 9< | hwin 16 200 32
Snppwihaght
33121270 Cwlywphnunhlwqquyunipjwbuljwdwnwlubp nhuljap/ 9¢ — 16 200 32
UWihlwaght
33121270 Lwlwppnunplwaquiunput vlwwnwlutp/ ac - 16 200 32
Stwpwaghlyhu
33121270 L o Sl i o S e 9< | hwn 16 200 32
Shtnwdihght
Lwlwphninhlwggqujunipjwt ulwywnwyubp /
33121270 8
Snubnihahl QL hwn 16 200 32
33121270 Lwlwphnnhjuwaqujunuw uwdwnwlubp/ ac - 16 200 3.2
“inpuhahiht
33121270 Sfpuphndpluasutauuusjueeliuby Q< hwin 16 300 4,8
Yn-unphdnpuwgn)
33691162 R e b 9< | hun 16 200 32
Ywtyndhght
33601162 Sgpoe e R ITI IR < | hun 16 100 16
Lhunuwyphuwnhl
Zwlwphninhlwag|unipjwlulwywnwlubp/
2
33691162 S Pl Q< huwwn 16 200 3
33691166 Uhowjwp tingupwpwiht L Lg 40000 1 40
33691888 UbjkUp pniynu < Lg 42000 1 42
33691166 ahnt ohtiniy 9L hwn 20000 1 20
2np ghgbinquijht wrunppgywd whunnpnghg 2héniy
1 45000 1 45
i Qwa"nlmbbwghw h ntiwyaghwih hwdwp |-V, sonnei i o
nn 2hqbnquijhts wnunppgywd whinnpnohs 2hénly
33691166 bbb uty ikl g SabsdbEdy L4 < hwwn 30000 1 30
§lnn 2hqlnquihu wnunnpgdwﬁ wifuwinpnghs hénd
33691166 wqynunhtiwghwjh nbwlghuwgh hwdwnp $ibputibph [-hu L hwwn 45000 1 45
whuw
2nn 2hqbinquuht wnunppgwd whunnpnhg ohtnd,
000 1 30
Selion wqynunhlwghwih nbwlghwih hwdwp $iEputbiph [ mhy = i 0o
2np 2hqhnquiht wnunppgywé whunnpnahy shéndy
SRRl wqynunhtwghwih nbwlyghwih hwdwp $aputibph Il nhy &< huin e ! 0
2np 2hqbinquihts wnunppgqwd wunnpnzhg 2héndy
33691166 wqynunhtwghwih nbwlighuwgh hwdwp $iiputibph < hwwn 30000 1 30
_ dn34
33691166 | 2 Zhabinquihl wnunnpgdud whunnnnghs 2604 | q e |, | 45000 1 45

waqynunhtuwghwih nkwlghwh hwiwp $iiputbiph fudp,6




2np 2hqbinquiht wrunppgqwd wiunnpnzhs 2hand

33691166 wqynunptwghwih nbwlghwih hwdwp $iiputtinh G< hwwn 30000 1 30
hudn,7.8
&
33691166 2np uwdnubiinguiht wnunppgywd wjunnpnzhs ghéindy 9c - 55000 1 55
wayinunhtwghwih ntiwbghunh hwdwp ABCDE
33691166 2np uwinubnquih wnunppgywd whunnpnahs 2héniy qc T~ 55000 1 55
wgynunhtwghwih nbwlighwih hwdwnp 04
33691166 2nn uwinubnquihtt wnunppgywd whutnpnohs 2héniy ac - 55000 i 55
- wagynunhtiwghwih nwyghwih hwdwp 09
np uwpinbinquihts wnunppgywsd whunnpnohs 2hénty
1
33691166 il bbbl phulehili BalEh ol 9< hwwn 39000 1 39
33691166 2np uwdnubnquihtt wnunppgyws w[umnnnzhg. 2htniy ac i 39000 i 39
wgynunhtuwahwih nbwyahwih hwdwn Hi
33691166 2np uwpdnubinquihtt wnunppgdwd whinnpnghs 2héndy az i 39000 1 39
wgyinunhtiwghwih nbwlghuih hwdwp H gm
33691166 Eobiphfuhng wuwnnpnohs 2hénly 026 < hwwn 0 1 0
33691166 Eotiphfupng  whunnpnphs shénly 055 < hwwn 0 1 0
33691166 botiphfuhng wfunnpnghs ohinly 0111 L hwin 0 1 0
33691166 kobiphfuhng wiunnpnohs 2héndy 0157 YL huwn 0 1 0
33691162 Lbhynpwljunbiphw whinphh phbun L nnith 0 2 0
33691162 Euwnbipndppniup pbun Q< nnuh 0 2 0
33691162 Euwnbpndhpmup phun 9L unntth 49500 1 49,5
33691162 Ppngbiingh  nhwgunuwnplynud L huwn 2700 2 5,4
33691162 Unununiyingh  ptiun Q< hwin 0 2 0
33691162 Unununiyjtingh  pbuwn < hwwn 22000 1 22
33601162 tatiphfupngh pliuwn ( E. coli 0157:H7 Q¢ o 0 ) 0
hwinuwpbiptint hwdwn)
33691162 Foupidioils ek (Ecall I Hr 9< | huwm | 45000 1 45
hwnuwpbipiini hwdwn)
33691162 Luwwnphnuwh pinphn QL Yg 2000 1 2
33691162 Ulwywnwlubp opuhnwquyny K hwiwn 100 200 20
33691162 Bwaquwph snp wiwgiw QL wnnuh 27240 1 27,24
33691162 Stipdbtnwinhy whiunnt L ya 20000 1 20
24211140 0G-6 pogwjhti tbipy Ynunghuininghwih hwidwip 5000 i thinp 0 2 0
24211140 0G-6 poguwhu ubkiply Ynjwnghuininghwih hwduip 5004 < thwp 32000 1 32
24211140 <hdwwnnpuhiht <wphu-poswiht utipy 5004} QL lhwp 0 2 0
24211140 <hdwinnpuhiht Lwphu-peswiht ubipy 5004 < thnp 40000 1 40
Minjhppnd EA-50 pgouijhts biply Ynunghuninghujh
< 0 2
24211140 g hudwin 5004 G thwp 0
nihppnd EA-50 poowihti ubiny Ynwnghunninghuwjh 1
.8
24211140 husdwn 5004 9L {hwp 19800 1 9
agnaso | Omowliahd “‘“h‘"“’l:z;’;s"cr;:‘f““‘“ REuR hwdwpwdni| o | o | 100800 5 504
33211250 CFAS wpninbihu cobas cl11 < ninuh 0 2 0
33211250 CFAS wpninkihl cobas cl11 G< nnup 72100 1 72,1
33691162 funnnuwljubp Lwhuwwbuyws nbwgbunubph db ac — 0 10 0
wbnwnpbnt hwiwnp cobas ¢l hwdwn
33691162 funnniwijutip bwjuwnbugwsd nbwgblnubiph dhy ac i 20900 5 1045
wbinwnnbtint hwdwp cobas c111 hwdwp
33691420 Uhup Ynyblun XP-300 QL hwwn 90 5000 450
Suhsh pnup whiwnbufwd
11 < 0 100 0
i cobas c111 uwpph hwdwnp i
33191310 Upywts bdnipwndwl Julnidwiht thnpéwunp Q<L hwtn 0 5000 0,0
33691420 el 1 Cartridge 600 tus hwiwn 240000 5 1200,0
33691162 | Lywgnn htinniy cleaner cobas 111wuwhquwnph hwiwp | EUS hunn 14100 5 70,5
33691162 Ynbwnhtuht npnadwl phun hwywpwdnt [=8a) hwwn 15500 10 155,0
33211280 Ppnigtingh npnodwl phup puwn Muwjpe lubnbiunth 2d; Uu hwwn 2800 2 5,6
24321860 Ugnunwljwl apnt uu (hwnp 2500 4 10,0
24321240 U-pupn|-Yupswtjnip uu {pwp 38000 2 76,0




Uuinwhwths htinny nebin /nhnbghinhdbphjwdntihnudh

24451141 RINPhR(UU)- 3,5%, N,N-phu-(3- Uu | fup | 10000 12 120,0
wihunwpnuhnnnbghpudht -5,5% (bugnunip®)
24451141 Ufunwhwuhg hbnnty ynyabin/Synunwpuwinbhhn 20% uu dig 19800 18 356.4
funwlnie
Ufuinwhwhy hbinndy bniplin/Snwithnht, N,N-nhnbghi-N-
dtphi-un(h (opuhtrhy ) winthnuh wpnufintwn-
wnihhtipuwdtiph|buphgnuuthnht hhnpnpinphn,
24451141 ittt dmnaiet Jmhwbwqw,wﬁ:w»r} uu | hap 14000 18 252,0
wihpuqu, wpnubiwqu), Bwltipunypuht wiwehy byngebp
(Uuhnghd XL3)
Ufutnwhwuhyg hbnndy Uynyabin
24451141 | /nphnbghhutphwdnupnuwh  pinphn- 2,2%, N,N-phu-(3- uu lhup 8000 14 12,0
wihtnwnnwhinnnbahwidht -5% (Uninbwiihnul:
24311530 2nwduh whipopuhn uu |hwp 1000 100 100,0
33691162 Uwinpndwwnnjwjgbip-WH XP-300 uu hwwn 40080 2 80,2
33651143 Unwppent uu hunp 2500 1 2.5
24951400 hdbpuhnt jnin 1004 Uu hwwn 4500 10 45,0
33121270 Lwljwphnnhljuiht ulwdwnwlubp uu hwwn 25 2250 56,3
33211500 Lhijhynpulynbp Uu hwwn 1000 25 25,0
24321250 Lupny Uu huip 2500 60 150,0
24211150 Snwwnipbp hhunininghwlwu uu hwwn 9000 4 36,0
24211140 Cbdwunnpuhiht Jil 1l UU_ | (hup 28000 2 56,0
24321311 hanuwpnughy uuhpun uu hwnp 2500 20 50,0
33691163 Eunnuquip uu Ug 60000 0,5 30,0
33691874 Ugqwp dwlpun-wnuht Uu g 47000 0,5 23,5
33691879 Ugwp Unyip <hupnth Uu Lg 66000 0,25 16,5
24211210 Lbplwtynip Uw-Spynitnuwn uu |hunp 13500 1 13,5
24211210 Lbplwujnya Nndwtngulh Shdqu uu |hup 12600 2 25,2
33211320 Lbwwwnhw B hwpintiwpbpdwl wpwg phun uu hwuwn 250 40 10,0
33141176 2hUL-h huyuntwpbpdwt wpwg phun uu hwwn 500 40 20,0
33141212 <nhnipyut phiun Ul hwwn 80 10 0,8
33141143 Uywph$hlwinnp Ul hwwn 9 200 1,8
Clnwdby 70122,9
QrELULUL MhSNR3LLLN L 4PUULL3ULU3PL L3NhEEN, UUr2udnrnrLe?
30197620 @ninp, A4 $npdwnh 1/21x29,7/ L hwwn 1600 550 880,0
30197620 f@ninp, A4 Snpdwinh 1/21x29,7/ uu hwiwn 1600 55 88,0
35821400 “tpngubip uu hwn 6000 6 36,0
30192739 (Inue, A4 pnpdwnh gnitiwynp uu hwn 1500 10 15,0
30192780 Eowtipwu Uu hwtn 300 100 30,0
22811190 Uwupuwpwlwt gppnyp uu hwin 100 400 40,0
@npwwwlwlubin, npintin prrbinp dhwgynd tu
22851200 et b wipwlibn/dbd/ uu hwn 1000 25 25,0
39263200 Spwubijwluwihu ghpp Uu hwwn 1200 20 24,0
22851200 [enpuuwlwl uu hwwn 750 30 22,5
22851200 [Inpwujwlwy Uu hwwn 400 50 20,0
22851200 enpwujwliuly uu hwwn 200 50 10,0
22851100 Upwguluptbp Uu hwn 180 160 28,8
22851200 Fnpwwwlwl,wynihdbpwihl punwue, $wj| uu hwtn 13 12000 156,0
30197220 Ywphstbip, dhust 20 phpph hwdwn uu hwuwn 650 10 6.5
30197220 Ywppsubip, dhtsl 20 phippehg wyby uu huwin 1600 5 8,0
30192111 Fwliwp, gunwduwh pwpdhyh Uu huwwn 400 50 20,0
30192121 Sunhluwnp aphs uu huwn 100 1200 120,0
30192125 Uwplbipubip Uu hwwn 200 50 10,0
30192125 Uwinhwnubp uu huwwn 100 400 40,0
30192133 Uphstbin UU | huwn 300 30 9,0
30192160 Guphfulbp uu hwn 250 150 37,5
30141260 Cwoyhs-npwiwplynuht depbuwlbph dwwwdbuubp uu hwin 150 1000 150,0




42416700 Pwaqlwpenn gpwubtjwlwhu uu hwwn 30000 3 90,0
30192100 Mtwnht hwuwpuly uu hwn 100 20 2,0
30199710 Opwpubip uu hwwn 15 4000 60,0
30197100 Ywphsh dbnwnwiwpb Yuwbp,dinpp Uu hwwn 100 200 20,0
30197112 Yuwphsh dtnwnuwiwpt Ywwbip,dhoht Uu hwwn 200 200 40,0
30194810 Lwunuubip Ul hwwn 200 20 4.0
30192210 MnnuGPwiht puptwlusniu dwuywybu, 48dix1000 Uu T 1100 20 22,0
wlinbuwywl, dtié
30192710 Unubidwiwwnhwn, gpwublyjwluwihu uu hwwn 400 400 160,0
39141100 Uduwgpbiph nupwlubip uu hwn 4500 5 225
30141200 Cwpjwuwpp,gpuubljwlwihl uu hwwn 4500 5 22,5
30199400 Unubidwwwinywd Gud Yugnlu pnine Uu hwwn 200 30 6,0
30199400 Unutidwwwwndwd Yud Yupnii pninp uu hwn 250 30 7,5
30199430 faninp Upnwiutiph, npgulubpny uu huwwn 1500 50 75,0
22811130 Opwwnknp uu hwtn 3000 10 30,0
39263600 Gpswannuh, gpuiskilywljuht uu hwtn 600 6 3,6
30192111 fwlwph pupahlubp UL | hwwn 350 10 3,5
39221490 Uwniuqubip Ul hwwn 300 10 3,0
39111140 Upnn Ul hwtn 12000 5 60,0
39111180 Upnn gpwubtywlw bl Ul hwuw 80000 2 160,0
39111180 Upnn gpwublywljwh uu hwwn 30000 18 540,0
Cunudbkup 3107,9
SULSGUULUL & UULLhGhELRG UL3NRAG!, UMPULLLE, L UUreU4NPArULER
24451141 Ufunwhwunn dheng 1y QL hwn 700 200 140,0
39831280 Uwywlh dwppbint htinnly L hwwn 400 300 120,0
39221410 Uty q< hwn 1050 20 21,0
39221400 Udlb) — uwynly 9< hwwn 3000 90 270,0
39221350 Pwdwlw dhwlguidjw oguwgnpdiwl Q< hwtn 5 8500 42,5
39224331 Ty 10 | QL hwn 700 10 7,0
39224331 “tny| 51 QL hwwn 500 10 5,0
39224333 nyp Snwnjw / ghulwiwwin 10 | Q<L hwn 1500 12 18,0
39713410 Ty pdwppugny QL hwwn 4000 10 40,0
33761100 2niqwpwih pnine QL hwwn 100 660 66,0
33761100 2niqupwth pninp 2 s2bpn AL hwwn 150 3600 540,0
39221420 2niquipwbh funquitiuly < hwwn 800 120 96,0
33761400 fanph wudtnnghy tphgtipn / z- wél 21 ud/ L hwwn 800 450 360,0
39513200 Anpb uwdwl hhywunh hinwgnindwl 9L hwn 3500 60 210,0
33761300 @npeb upphy flunhwlngh 2 gtipn L hwwn 350 500 175,0
39831283 huptwdwpphs nnyih 2np <L hwuw 500 50 25,0
39831243 Ldwgph thngh 9L g 800 750 600,0
39812410 Ywhnyph jwp q< hwwn 700 12 8,4
39221400 Ynnun 1 | L hwn 600 40 24,0
39713410 <winwl dwppnn hupwdwpnhs nny; /pwdynn/ Q<L huwn 8000 35 280,0
39831283 Cwnwlh jwp pudpwlu <L hwwn 1300 120 156,0
39835000 Lwwnwlih thuwjn 9L hwtn 1200 40 48,0
39831246 Lbinmily ofwn <L {hwp 500 1000 500,0
39831246 <tinniy ofwn 0,33 <L hwtin 500 10 5,0
18141100 Qtining nbnpub L huwtn 250 1100 275.0
39831241 Qtinph ofiwn < hwwn 220 350 77,0
39221400 Uhuypn$hppw Q< hwwn 400 10 4,0
39531800 Luwfjuwdnunph gnng G< hwwn 2500 10 25,0
34921440 Mywuwndwub nwppw Guthuwphsnd / Yinp funpp 80 Q< hwwn 7000 4 28,0
34921440 Mywuntiwul nwppw Ywihwnphgny /punwbilyni 10 < hwin 2300 15 34,5
34921440 Mywundwub nwppw Ywihwphsny /punwilynt 2) QL hwtn 700 5 3,5
34921440 Mywundwub nwppw Juhwphsny /punwllynt 40; L hwwn 4500 5 22,5
39221400 Mywundwub nwppw Yushwphsny 60¢ <L hwwn 7000 14 98,0
19641000 Mnihkphibuwihu wwny pwiintph 60 AL hwwn 200 1000 200,0
19641000 Mnjhkphiiuwht wwnpl pwinuh 120 <L hwn 300 50 15,0
19641000 Mnihphbuwhu wwpl/ wnph wwpl 30 ) AL hwn 300 150 345,0




39831246 Uwuhwugnyg dwppbin nwfupw K hwtn 330 820 270,6
33721100 Uwithpliynt wokih L hwwn 150 2000 300,0
39221400 Ubnwbh jwpe < hwwn 150 100 15,0
39831278 Uwywuph Jwgdwt hbnny 9L hup 350 2250 787,5
39221490 Uyniug wynwihtt dpny/ dbnwnwlut uyniug G< hwwn 150 330 49,5
39831240 £inp /dun]t Q< hwp 130 6500 845,0
39831240 £np 1| /dwyby 9L hwin 250 200 50,0
39811300 Onh pwpubgnighs < | hwmn 450 220 99,0
39518300 Jhpwpnidwlwl vwdwlitbp (1,500x2,200) [2e) hwwn 2500 400 1000,0
39518300 Yhpwpnidwluwt uwygwltbp (1dx1,10d) (201} hwwn 1500 350 525,0
33191650 Pdolwlwl hwgniuw/ fuwjwp Lus hwn 8000 300 2400,0
19641000 Minihkphibuwhtu wwply pwithnuh [=0laY hwtn 180 4000 720,0
39831278 Uywup Jwliwint htinniy tuns hup 350 1000 350,0
39831240 £inp /duyli Eus {phwp 10 4000 440,0
39713410 Lunnwly Jwppnn hupuwdwpnphs pny) /pwdynn/ EUA huwn 5000 30 150,0
24961200 Lnp 1t Ul hwwn 150 660 99,0
39831210 Uwjwup 4. hbnniy 1 uu hwwn 300 333 99,9
39831240 Uwuhwlgnyg dwpjbjnt bhg nwfupw uu hwwn 300 330 99,0
33761100 2niguputh pninp 2 ghipn Uy hwn 150 665 99,8
33721100 Uwithplijnt watith BIC Uy hwwn 130 765 99,5
39513200 ol uwywl hhjwunh htitnwgnundwl uu hwwn 3500 28 98,0
44611130 (Ipwdlh unuwywgnghs uu huin 6000 100 600,0
44423680 OpUwdtwihu hwiwlwpgh dwu (dwhuuwswih) uu hwn 28000 25 700,0
18531100 Lubpubp uu hwin 3000 333 999,0
39831243 Ldwgph thngh uu g 800 100 80,0
31161240 Ynunwljhsubip Uu hwun 145000 3 435,0
38311100 Eblwnpnuwiht Yotinp uu hwn 1960 1 2,0
38311100 Ebljinpnuwhu Yotinp uu hwtn 12000 i 12,0
39515440 Chpunwydwpuwgnyp nupnuhwjwg uu u? 6500 76,45 496,9
39515420 Ghpnwywnpwagnyp nipnuhwjwg uu 0 15000 8 120,0
42911180 Fpywdtih Supwluywuh gunhs hwlywuny uu hwwn 290000 1 290,0
Lunwidbup 17216,0
<UUULUMrShUER,CUUULUMGU3PL UUMrRUUNPNRUTLEN L MUrUSGULE?
30211230 Zwidwlwnghs puywqd wnwtg dntipinnp G< hwtn 119840 15 1797,6
30237490 Lwiwlwpgsh dnuhwinp Q< hwwn 38940 20 778.8
30239170 Pwquw$nilyghntiwy (wabipwiht wwhs / gwlgujhu QL hwwn 230000 6 1380,0
30239170 | Pwgdwhnilyghntiwy jugbipuht nwhs / ns gulgwihu Q<L hwwn 110000 3 330,0
30232231 Cwidwluwpgsh Ynpn vhwiwnwy /4T Gl hwwn 40800 2 81,6
32421100 Swlguiyht dwnifu cat 6e 9L dtinp 0 2135 0,0
32421100 Swugwht duwynifu cat 6e < dtiwnp 128 1220 156,2
31321110 Stuwfughyh dwiniu < dtinp 0 1000 0,0
31321110 Stuwfughlp dwynifu G< dhnp 152 500 76,0
31321110 Uibhwwph Jwinifu < dtinp 0 300 0,0
44322300 Lhnwpunup dwynifu K dbiwnp 55 500 27,5
32551150 Luwthnnh jup s hwuwn 300 20 6,0
30237132 Suhsh pwp (USB) 9z | huw 1500 15 25
32421300 WiFi uwpp L hwtn 6000 10 60,0
30141380 RFID shwy 9< hwn 300 200 60,0
30141380 RFID shuy dwjuwgpynn QL huwitn 400 200 80,0
30216200 RFID shwh dwjuwgpnn uwpp Q<L hwwn 14000 1 14,0
30141380 Ricoh325sfnw pwppphoh shwy R hwwn 0 10 0,0
4322000 | Swdwlungsuhl “""‘9‘(’;"2‘5\‘/‘;“"""“ dhuwgdnn dwindu 1 g | pyn 348 100 348
30237112 Swiwlwpggh hnuwtph ulinigdwl uwpp G< hwwn 4380 20 87,6
32421300 Swlguwihu pwdwuwpwp < hwin 3900 20 78,0
30197231 Hulh $uy 9L hwtn 9.6 5000 48,0
30237460 Uwnbinuwpwp < hwwn 3000 20 60,0
30237460 Uinbnuwown wupwp Q< hwwn 8760 3 26,3
30237411 Cwdwlwpgswht dyuply QL huwin 1560 20 31,2




30237412 CQwdwlwpgswiht JYuply wiywnp B LS hwwn 3600 3 10,8
30232231 Yngn uwywnwy SSD < hwn 8199 10 82,0
31681150 Lhonnnipjw dhypnufubdw 24C32 < hwwn 1000 10 10,0
30237113 Rj45 Unubljnnp 9L huwwn 21 1000 21,0
30237111 Uunigdwl dwpinlyng Q< hwn 12800 3 38,4
31151120 Uufuwthwu uunmgiwu uwpp < hww 48800 3 146,4
30232231 Upunwpht Yngun uljuwinwy QAL hwwn 51000 2 102,0
32324900 Lhnnwiinwgnyg < hwwn 51000 20 1020,0
31221270 Ujbhwywph pudwlwnwl < hwwn 2200 5 11,0
31221270 Ujrhwwph dhwgnuiutip QL hwwn 200 30 6,0
31221270 Ujshwywph dhwgnuiutin 9L huwin 200 30 6,0
44322100 Uwiniju hwdwlwpgsh, UTP cabel Uu dbwnp 180 305 58,0
Cunuidbup 6747,6
Thuwpwpnipjwl dkg oquugnpéynn qubuqut wypwiptibip b tynpbp
44111412 Ukpngny ubply 9L huwwn 800 50 40,0
19121700 Uphbunwlwu Yuoh 9L qd.d 6000 30 180,0
39837000 Udbp wnsny / pulp < huwn 2500 10 25,0
44511110 Pwh funpp < huwn 1500 3 4,5
42415220 Phnuwuw)wy < huwn 18000 3 54,0
42415220 Ponuwuw)wlh wuhy < hwwn 3600 3 10,8
39241130 Twuwlutp pnph < hwun 1500 10 15,0
39241130 Twuwlubp pneh /biqyh/ 9L hwwn 40 300 12,0
42121270 Hhunwhnph wndy Yanunyryéusssii F50 G hwwn 75000 2 150,0
44221141 Twl pnliwy L hwwn 1200 30 36,0
44423100 “tnwb quiug Eliunpulwu < hwwn 2000 2 4,0
44521120 “wt thwywl GYpnpnwt GL hwwn 3000 50 150,0
44521121 Tnwt thwlwth dhendy 8 ud 9< hwwn 2500 70 175,0
31711160 Eiyinpnn ubindh 9L wntth 300 30 9,0
31711160 Eiblwnpnn 2,504 gL hwwn 40 150 6,0
31681900 biblunpwlwl whnuhy (nnby) QL huin 40000 1 40,0
44423680 Fpdwdup yupgwynphs QL hwn 8000 10 80,0
30192232 Puptiwljusniu dwwwibu (ohu.) QL hwuwn 600 20 12,0
44820000 Lwp bunnwpwlubph < Ug 5490 5 27,5
44423680 Lbuwn phtiwpwpwlwl GL hwtn 1500 5 7,5
39299320 Lnqupwlih huybijh wnwlg gpowtiwlh 9L hwtn 5000 5 25,0
44831500 Lnihs 5| 9L huwn 5000 4 20,0
44411300 Lywgwpwl AL hwwn 25000 5 125,0
44423680 Onup bdpn pnwb < hwwn 700 100 70,0
42131470 Onpwlp dbwn. dwubp 9L hwwn 1490 8 11,9
39132220 Ywifuhs < hwun 200 60 12,0
39151220 Ywhnyph dwubip /wthy Ywhnyph/ < huwtn 200 100 20,0
39151220 Ywhnyph dwubip /wblyniuwl Bplweiw thnpp < hwwn 40 100 4,0
39151220 Ywhnyph dwubip /patiwly/ < hwn 300 30 9,0
39151220 Ywhnyph dwubip /nwpuluuuhhs/ <L hwn 1500 30 45,0
39151220 Ywhnyph dwubip /Snup/ QL hwin 300 100 30,0
39151220 Ywhnyph Jwubp /nng/ AL hwwn 1100 50 55,0
39151220 Ywhnyph Jwubp /hwluwty) L huwin 500 70 35,0
44521100 Ynnubip < hwiwn 2000 3 6.0
44531193 Ynyninnt wulnibiwly Q< hwwn 700 20 14,0
44163200 Ynjninnt wugnid < hwuwn 700 6 42
44163200 Ynyninnt bnwpwigtuhg 9L hwwn 1000 9 9.0
44163130 Ynyninnt funnnyuly F110 0,25 J 2,204 < qdd 450 5 2,3
44163130 Ynjnunnt funnnduwly F110 0,250 1,504 < q&d 300 3 0,9
44163130 Ynyninnt funnnywly F110 0,5 d 2,504 Q< qdd 900 5 4.5
44163130 Ynyninne funnnyuwly F110 1 4 2,504 q< qdd 1500 5 7.5
44163130 Ynyninnt funnnyuily FI10 2 J 3,244 Q<L qdd 2700 5 13,5
44163130 Ynjnunnt funnnduly F110 3 d 3,204 L qdd 4000 2 8,0
44163130 Ynjninnt funpndwly F50 0,34 1,504 < qdu 280 3 0,8
44163130 Ynninnt funnndwy F50 0,54 1,504 < qod 350 3 1,1




44163130 Ynynunnt funnniuly F50 10 1,540 QL qdd 550 3 1,7
44163130 Ynjninnt fjunnnyuly F50/2 1 d <L qdu 850 8 6,8
44163200 Ynjninnt fugui 9L hwn 400 4 1,6
44163200 Ynnunnt Unihn 9L hww 320 6 1,9
44163200 Ynyninnt nbhghw F100 B hwwn 2500 5 12,5
44163200 Ynjnunt tinnu 5 dwnpuiing < huin 2000 2 4,0
44112730 Ywnpnn uljwwinwy < hwwn 700 50 35,0
44511700 LwpRwnipR Q< hwwn 2000 4 8,0
24911300 Chinnly Ukt aC | hwn 800 20 16,0
44831300 <hpdbwnhly wynnyuyh sbpdwlwniu q< hwwn 1000 10 10,0
18141100 Qbtinung pwuynpwlw L qnug 300 100 30,0
39839300 At phwly Q< hwwn 5000 6 30,0
39541170 Bnuyuwl < dtinp 300 70 21,0
24911500 U unuhud 100g < hwtn 2000 30 60,0
44191700 Ubiinp 5 d 9L hwn 2000 3 6,0
9211620 3nin 2 nwlwnwlh 1) QL hwwn 2500 3 7,5
44423680 Lwuwwnyw bhgnintp < hwun 300 10 3,0
44111413 Ubipy wgbintiwih hhupny kulhd ywd hwdwpdbp | 9< Yg 4000 25 100,0
44411740 Luwnwynup <L hwwn 35000 5 175,0
44411740 Lunwynuph wj. Yuhwphy s hwn 4000 50 200,0
44411751 Luwnwlntph oph tnwpwih YndwGyw/pusnyh K hwwn 5500 60 330,0
44521100 Gybgwp nnwt < hwn 10000 10 100,0
42131100 Mwwnthwth thwlwl /bdpn < huin 600 100 60,0
44423650 Muljh wnhdbpwiht (ninptt dwywbbwpbbp) L hwwn 600 20 12,0
31221242 M\ ynuyls /60*40 L hwuwn 6 1000 6,0
44163121 N funnnduly F20 Hnjgwjwyjuin q< qd.d 500 40 20,0
44163121 M. funnniwly F25 Sniguwjwuuin 9L qd.U 710 40 28,4
44163121 M. funnnjuly F40 $njguywujun 9l qd.U 2000 12 24,0
42661200 M| funnndwlh gnndwl uwpp 4L hwwn 20000 1 20,0
44531191 Mnudjw funnnyuly 0,844 4L qdd 1500 60 90,0
44531191 Mnudjw funnnduly 0,224d L qdd 4500 120 540,0
44163200 Mnudjw funnnywlh wlniuwy 90 , 0,844 QL hwwn 500 20 10,0
44163200 Mnudjw funqnywih wulniuwy 90, 0220d <L qdd 800 25 20,0
44163200 Mnudyw funnniulh Enwpwofups 0,2204 Q< hwwn 1500 6 9,0
44163200 Mnuéjw funnnjwlh bnwpwluhs 0,8ud 4L hwwn 1500 10 15,0
44163200 Mntdjw funnnyulih gnndwl wrhwny L hwn 400 30 12,0
44163200 Mnuajw funnnyuyp Ygwdwu 0,224 AL hwn 500 50 25,0
42121150 Mnudy L hwn 16000 5 80,0
44191700 Ming pinitigh 9Z | hwwn 1200 20 24,0
44191700 Mng pwhh <L hwwn 1000 5 5.0
24911200 MJU unupud 0,94q 9< hwwn 1500 5 75
44531160 Muinunuwily cemedxa <L hwwn 3 2 000 6,0
44511330 Minnunwlwhwlh hujupwdnt q< hwwn 8000 5 40,0
42131170 fbnnigiw thwlwh Q<L hwuwn 1500 85 127,5
39721510 2nwiwnwpwgnighs GL hww 50000 2 100,0
42131170 2ph thwlywu / 3/4 L hwn 2000 10 20,0
42131170 2pp thwlwu /walyn QL hwuwn 2000 30 60,0
44411110 2ph fuwnthswiht dnpwly 1 nbinwp L hwwn 3000 100 300,0
44411120 2ph dnpwl bplinbnuth K huwn 10000 30 300,0
44411120 2ph dnpuwl bplnbnwh wwwnh Jpwih <L hwwn 10000 20 200,0
44163170 Mtawnhub funnnuwly dhmwﬁ%n:l{dmﬂnwL{npl{wb aydnn, GpYy qd4 - 150 150,0
44163170 Nbwnhub funnnyuwl uhjhlyntihg QL qdd 600 100 60,0
24951130 Uhthynu 2804d| pwihwughy QL huwin 1000 120 120,0
30192233 Uhihlnut pwpwy Snghy GZ | huw 150 20 3,0
42131490 Uh$n/ bipljwpny 4L hwwn 1200 100 120,0
44191700 Uthpbij-punip niuhybpuwy q< hwn 3000 2 6,0
24911200 Unuptid kwnpupn, 6 4} G< L 1000 5 5,0
24911300 Unuhtid Uwhphp Ywd hwdwpdbip < I 2600 2 5,2




24911500 Unuhud puph 0,84g QL hwwn 4500 2 9,0
44192100 Ppihnip ohtwpwpwlywt 8504 A< hwwn 2000 20 40,0
42511124 Onwugph Swnuwoun < hwwn 800 25 20,0
39714100 Onwthnhuhs q< | hun 7000 4 28,0
44511330 B wununwlwhwl 20V A< hww 40000 3 120,0
44511370 by wununwlwhwh giuplubip q< | hwn 400 10 4,0
43121190 Znpuwinhg 9< | hwwn 50000 3 150,0
44511400 Znpwnhsh quihnt F5 < | hwwn 600 10 6.0
44511400 Znpwnhsh quiihlynt F6 9L hwin 800 10 8,0
44511400 Znpuwnsh quiihynt F8 < | hwwn 1000 10 10,0
44511400 <npwnhsh guyhynt F10 Q<L hwn 1200 10 12,0
44511400 <npwnhsh guyhynts F12 QL huwin 1500 10 15,0
31641217 Snpbih ubmdwy F16 9L huwwn 20 200 4,0
31641217 Snpbih ubndwly F20 9L huwin 25 200 5,0
44511100 Ubitnwnh dljpwn <L hwwn 3000 3 9,0
44511370 huwpwnngubinh hwjwpwdnt QL hwwn 3000 2 6,0
44191700 fpqwdtp Gupgunphsh dhownhp < | hwn 100 100 10,0
44411110 2ph dnpul dbly nbnwth < | hwwn 3000 100 300,0
44191700 Ulpwwn wywuwnhy funnniuliutip upbnt < hwun 5000 2 10,0
44191700 Luwnwlnuph gnpb 9L hww 2000 10 20,0
44112800 Shuhunnnyuwly G< | hwwn 1000 40 40,0
31683400 Mywuwnply funnnywbh Ygwdwu / inwpuwglups 1/2 QL huwin 100 50 5,0
44163200 Mywuwnhy fjunpnywlh Yguwdwy/ wulniuwy 90° 1/2 L hwwn 100 100 10,0
44163200 Mywuwnhy funnnduwlih hgwdwu/ wugnud 172 QL hwn 50 100 5,0
44163200 Muwuwhy funnnyuwyh Ygwdwu/ wilynitiwy 45° 1/2 4L hwn 100 60 6,0
31683400 Mywuwhl funqnywlh Ygwdwu / tnwpuiubs 3/4 QL hwn 150 30 4,5
44163200 Mywuwhl funanywlh hgwdwy/ wulniwl 90° 3/4 AL hwtn 100 50 5,0
44163200 Udbiphlwljw wjwuwnhy funnnduiyh 1/2 /dudw <L hwwn 1000 30 30,0
44163200 Udbphlwulw wywuwnhy fungnywih 3/4 /dwdw A< hwwn 1200 20 24,0
44163200 Mywuwnhl funnnywlh Ygwdwy/ ZL 1/2 FAdwdw QL hwwn 500 50 25,0
44163200 Mywutnhly fungnywlih Ygwdw/ wugnyd 172 F/ dwdw < hwun 400 50 20,0
44221141 Twb pntiwly wynuibl 9L hwn 6000 15 90,0
44221141 Twb pnbwl bplupjw 9L qnuyq, 3000 10 30,0
44521120 “Hwt thwlwp Ynduybln dupnjw q< hwwn 10000 10 100,0
4453110 TMunnunwly thwynh 50 dd < | hun 10 1000 10,0
30192230 Uyns bplyynndwuh Q< hwtwn 1000 20 20,0
31221241 "Ynipbi| ghwjub unjwpwpenph/ nan L hwwn 30 1000 30,0
44161160 pdwduh pwpap Supdwl funnndwy 90 ud tus hwn 40000 20 800,0
44161160 pwduh pwpap Sugdwl hwtgnygliiph hwupwdnt EUBS hwun 11000 20 220,0
35111130 Ypwldwnhs 5 Yg EUS hwwn 8000 30 240,0
35111130 Ypwldwphs 8 Yg EUs hwwn 9000 + 36,0
35111130 Ypwydwphs 10 Yg EUs hwwn 11000 4 44,0
39224550 Pnfuwlghly Jwbly Hus hwuwn 3500 8 28,0
44163300 Pnnpwly [=¥Ea) hwwn 4500 8 36,0
44163170 <pnbihught hwdwlwpgh hinqul /oputg/ Eus hwun 25000 8 200,0
42418100 Yhpbjwlh Ghuwl uu dbwnp 1050 152 159,6
44221140 Uynuihtb pipdnywidpgwiny noin Ul ! 120000 4,8007 576.1
44221100 UynuShub plipdnjudpowlny wwinnthwl Ul 05 90000 4,1966 377,7
44221100 Ubinwnwujuub ywunthwt uu huin 25000 1 25,0
44221120 Uujulb thwpbp iplipn uu u? 10000 2 20,0
44531191 funnnywy funpwliwpnuél uu v 1100 90 99,0
44551100 Ruuyuliuy uu hwwn 800 100 80,0
39522290 Gupnwwnnthwibiph dndwlwwwyinywl guitig Ul hwun 7000 14 98,0
Cunwdkup 9642,4
ELGUSPULUL UUPRUMNCNRULER, MUPUGULEE, SNPobeLeh
31531660 Lbn. judy E27-30W QL huwin 730 30 21,9
31531660 Lbn jwdy E27-50W QL hunn 1380 30 41,4
31531660 LED jwdw Upnpynn 9L hwin 1200 50 60,0
31531660 LED (wiy tbpnpdnn < hwn 4167 300 1250,1




31531660 LED (wiw wpunwpht A< hwwn 6400 300 1920.0
31531660 LED qiduy wpwwphl 9L hwwn 1850 30 55,5
31531660 LED juidy wpnwphl Q<L hwwn 3810 70 266,7
31531660 LED iy L hwn 410 150 61,5
31531660 LED jwiy QL huiwn 1080 100 108,0
31531660 LED [y < hunn 280 300 84,0
31512300 Lwiy gbptiuyht QL hwwn 600 50 30,0
31512300 Luwdu ghpbluht 9 | hwn 1800 50 90,0
31531210 LED jmwwwnn 220V 100W QL hwn 4800 10 48,0
31531210 LED nwwwnnt 220V 150W 9L hwn 8496 10 85,0
31531210 LED jnwwiwnnt 220V 60W q< hwwn 3300 60 198,0
31531400 LED owh 220V 120W GL huwwn 85000 2 170,0
31512300 Cupngbit uaduy 24V/25W 9L hwwn 7000 10 70,0
31512300 Zwinghl jwidwy 22,8V 50W,G6.35 Q< hwwn 19000 10 190,0
31512300 Cwingbt iy 24V 25W, G6.35 9L huwwn 14500 10 145,0
31512320 Puwlwnbphnghn jwdwy QL hwwn 2400 50 120,0
31512321 Pulnbiphnghry jwidw L hwwn 4800 50 240,0
31512320 MHeghyniywwnp QL huwn 75000 20 1500,0
31684400 Ywpnuwly linbin L hwwn 300 30 9.0
31684400 Ywpnuwl linkin hnn, QL hwn 240 50 12,0
31684400 Jwpruwl 2inbin hnn, G< hwuwn 500 30 15,0
31211221 Upunwpht wiguinhs Tintin < hwwn 30 0,0
31211221 Upunwpht wugwnhs 2unbin < hwn 324 30 9,7
31211180 Ywfunydh whgwnhs L hwwn 150 20 3,0
39713510 Upnnibp ohipdwiht wlgwwnhy QL hwn 1500 15 22,5
31211221 by inwpwgnighsh wugwnhg 1 ntin qL hwn 500 50 25,0
31211221 ky nwpwignighsh wlgwinhs 2 inkin K hwwn 700 50 35,0
31211180 Ugwnndwn wuguwnhs nihs 220V 16A L hwn 510 20 10,2
31211181 Uyinnuiwwn whigwwnhy nyhs 220V 25A q< hwn 480 10 4,8
31211182 Utjinndwin wuswnhs wdhs 220V 32A < hwwn 480 10 4.8
31211340 Cnuwliph Guipquiynphs 220V-110V 500VA 9< | hwwn 12000 3 36,0
39715200 kL twpwgnighsh jnuny G< hwwn 22200 15 3330
39715200 k wwpuwgnighsh thsnyh QL hwwn 5000 10 50,0
42211140 tunhwlnguwhl Ywnwpwt Ubpnpynn 4nbin wwwyb L hwwn 130000 2 260,0
39715100 Ebynpuiliut_ it 4< | hun 0 4 0,0
44423680 £ jwph dwypuilwy 1,5 < hwwn 5 200 1,0
44423680 Ey wiph dwjpwlwy 2,5 i hwwn 5 201 1,0
44423680 by wiph dwypuilwy 4 <L hwwn 5 202 1,0
44423680 by (wph Swypwljuw 6 < hwn 10 200 2,0
44423680 by qph dwypuljuw) 10 9L hwn 15 200 3,0
31341200 ky (wph Ydupy 1,5 < hwuwn 12 100 1,2
31341200 E( qwph Yytaduply 2,5 gL hwtn 15 100 1,5
31341200 b (wph Lydupl 4 GC | hwwn 20 100 2,0
31341200 kg jwpp Yduply 6 QL hwwn 30 100 3,0
31331280 Eljwp1x1.5 QL dbwp 93 200 18,6
31331280 Epqup1x2,5 9L dtitp 150 200 30,0
31331270 b jwp2x1,5 L dkwnp 135 200 27,0
31331280 ELwp 2 x2,5 qZ | dbup 190 300 57,0
31331290 Elqwp2x4 L dtwnp 366 200 73,2
31331280 Epqwp 3x2,5 QL ubwnp 480 200 96,0
31331280 by qwp 3 x 4 9< | dbuwp 844 100 84,4
31685000 Gplwpwgiwl hwnnpnwiwph gilupy 3 ntin 9L hwn 630 40 25,2
31685000 bplwpwgdwt hwnnpnwiwph gifubl 4 ntin < hwwn 870 10 8,7
31651400 Utiyniuhs dwyyubit G< hwwn 150 300 45,0
44423671 Sndpti P16 4L dtwnp 51 200 10,2
44423671 Sndpb $20 A< dtwnp 57 200 11,4
31686100 Gwthly hnnuugdwu Ynunnipny <L hwn 180 200 36,0
31211221 Sunduiwu nihs (nwunshly) 220 10A L hwwn 2480 5 12,4
31211221 Sninn iihs 220V 16A §Z | hwn 1550 5 78




39714200 Onnpuljhy [z} hwun 140000 1 140,0
39714200 Onnpuiljhs EUS | hww | 200000 4 800,0
39714200 Onnpuwbhy EUs hwin 400000 1 400,0
39714200 Onnpulhy [xa) hwuwn 300000 1 300,0
32551160 Lbnwlunubip Eus hwtn 12000 14 168,0
39714200 Onnpuiljhy UU | hww | 270000 1 270,0
33941400 Uwngwnwubp Uu hwwn 180000 2 360,0
42941190 Onwpwipzhs bilEunpwlwb Uu hwwn 37500 2 75,0
31711380 EiEhunpniwqUupuwlwl Gudingp uu hwun 15000 2 30,0
31442100 Ynunwlihs dwpwnlngtibip Ul hwun 2500 30 75,0
42111230 Ynuylinghnli pwindh/ dnuinn Uu hwwn 8500 10 85,0
31711200 Uphbunwlwt suswuwjwpwinh dwpinlng Uu hwwn 180000 1 180,0
Cunudtup 11026,6
JdunsLhe
9132200 Phughl, nbgniywp q< (hwp 510 16000 8160,00
9132201 Phlight, nbgnyup UL | |hup 510 1600 816,0
9134200 Hhqlajuhts unbjhp, wiwnwhl 9| |hup 0 6000 0,00
9134200 Hhgbjught Junbihp, wdwnwiht <L [hwnp 540 2000 1080,00
Cunwibup 10056,0
UdSnUELELULLNh MUCEUSUUUUGE
31421100 Uwpulng wyinndbpliuwih tus hwwn 40000 1 40,0
31421100 Uwpulyng wynndbipbiiwgh uu hwn 40000 5 200,0
09211100 Ruwjninbip Uu thuinp 1500 23 34,5
34351200 Uyinnubipblwbinh wupyubip /wiwnwhb/ EUS hwiwn 30000 4 120,0
34351200 Uguindbipbiiwtibiph wuhyubip /&dtinwht/ EUS hwn 30000 4 120,0
Cunwdbkup 514,5
U3963Nrous4UL L3NkELN
24441100 Ugnuinwhll wwpwpuwlnys uu 4g 250 50 12,5
44921200 Yhp uu Yq 200 30 6,0
33691147 fanwtympbip/pniiwuphdhljun Uu hinp 13000 7 91,0
Cunwdbup 109,5
JEPULULILNULUL SNh3L
37421171 Uwpgqdwl quruy 55ud Eus hwuwn 4000 1 4
37421171 Uwnguiwl qunuly 65ud kus hwwn 6000 1 6
37421171 Uwpquwt qunwly 75ud Eun hwwn 6500 1 6,5
37421210 Suwiwly kus hwuwn 13000 1 13
37421210 (3tip pwpd/hbUwpuind kus hwwn 7000 1 7
38621200 Lwjkh tun hwwn 50000 1 50
37421210 2niguithw)un Luns hwuwn 105000 1 105
44423200 Uuwnhtwu EUS hwwn 20000 1 20
37421210 Ywuguwy [xU1a) hwwn 87000 1 87
37421100 OppnwbtnhYy gnpg un hwwn 30000 1 30
37451840 owlipng 0,24q [} hwwn 1500 2 3
37451840 vuwupng 0,54q Eus hwwn 1700 2 34
37451840 Twupng T4yg EUS hwun 2000 2 4
37451840 owunpng 24q tUs hwwn 2500 2 5
37451840 Owlipng 54q EUS hwwn 4500 2 9
37421210 Euwwuntip nuuwnwih 304q EUS hwwn 4000 1 4
37421210 Euwwunbin quwywuwlyny 50yq EUs huwin 6000 1 6
37421161 Euwwunbp dwwwybt 20807134, 544 EUBS hwn 2000 1 2
37421161 Euwwuntin dwwwytu 2080*194,5d4 EUs hwn 2000 1 2
37431340 Uwpquwt hwuwnbubiph hwyjwpwént Eus hwwn 16500 1 16,5
33191200 fghpwuylinhly prdiwl ubnuu [=01a) hwwn 120000 1 120
37421210 Uwnwghnlwp htdwthy EUs hwuwn 100000 1 100
42131130 Swp thwpbp [xa) hwwn 5000 1 5
42131130 Uwinp thwplip Eus hwtn 2000 1 2
33151330 Lkijpn-tlhwtiwhtn unpdnywnnp EUS hun 20000 1 20,0
33141186 Luwfuwpwglh hbwy tus hwwn 7000 1 4




33141187 Lyl Eus hwwn 15000 1 15
37521140 $wjint ubnwup fuwn/ghuntihpubiph wpynhy uu huwn 5700 2 11,4
37521140 (b ubnuuh qupqugunn fuwn/phy/puwtiuly Ul hwin 2300 | 2,3
37521140 | fInph ubnuip qupqugting fuwn/Ungdnpnud bup dunwdt | UU hwwn 4600 1 4,6
37521140 Ayuhyubp fuwn dwglhuny Uu hwwn 4500 2 9
37521140 Phah pnpn UL | hwwn 4500 1 45
37521140 Swiunwlubp hwdwnpdwu fuwn uu hwn 1100 8 8,8
37521120 Puwg| Ul hwin 900 5 4,5
37521120 Sinpp wybnpnp utinwuh fuwn uu hwn 2800 3 8,4
37521120 Ruwnquiqunn fuwn gnygbipny thwqy uu hwwn 1400 2 2,8
37451670 Upgbjwwuwuywph wwuwnhly Uu hwn 1500 4 6
37521120 Ywnnignnuiljwl ubnwuh fuwnbp uu hwun 3000 2 6
37521140 Chiphwieh punpnt anphip UL | huw 2800 4 11,2
37311560 Luhn$nu Ul hwwn 1500 2 3
37311440 Tpphwpint ULl huin 1100 2 2,2
37451290 Yunuiljubip Ul hwn 3000 5 15
Cunwdbup 752,1
UThusSuLLLEP
45231119 thuph dwutiwlh Ybpwunpngiwu waluwwnwuplbp <PU npwd | 163160700 1 163160,7
THuGPh, Wuinnthwitaph U hwpwlhg pwnunphsubinh
45421110 wbnuinpnul, hufuuwpulpnoug uu npwd 997500 1 997,5
45331113 L ‘:t::ﬂmq;r;‘r;mmwnmwu UU | npwd | 166000 1 166,0
UwEphnipu)it wzfutnnwlplbn fubwpupny
45231185 Swlwwwphtbph hwdwp uu nnwd 300000 1 300,0
ssona | R Zhuw"w"&tlw:niﬁwmwum’w VR e | ppwd | 1332000 | 1332,9
TFpquidtwft Gujwih phpwghl JEpwinpngnid It
45251167 suipdhsh jnuh dinfuwphtinug q< npwd | 1866540 1 1866,5
45311126 Ubinignn ouitupniuwiht gh whiglugdwt wahuwinutip < npwd | 3960000 1 3960,0
Cunwdbl 171783,6
oUNU3NRE3NRLLEN
79821170 Swwgpwlw L wnwpdwl Swnuwynipnitiitp L hwwn 3659000 1 3659,0
79821169 Swwgpwlwt b wnwpdwl Swnwjnyejniitp uu hwn 365000 1 365,0
79821169 Sywagpwlwt b wnwpdwl dwnwjnyajniutibp Lus hww 1300000 1 1300,0
79821170 Suwgpuijwt b wnwpdwl Swnwyneniuubn Uu hwwn 85000 1 85,0
90521320 SR ubAgE: PR 9¢ | hwn | 24840000 1 24840,0
hwywpwapnid, thnfuwnpnud, nsbswgnud
71351540 Stijuthyuwljut hulynnnueiul Swnw|nyeiniuubip QL npud 770000 1 770,0
50111130 Uguindbipbiwtibph Jbpwinpngdwl dwnwjniejniiibp L npwd | 4000000 1 4000,0
79211150 Uninhuinpuljwl Swnwyniajnit QL hwwn 1440000 1 1440,0
71351280 Gpypwpwtiwlwl dwnwjnipjniu q< npwd | 1500000 1 1500,0
79221100 Lwplwiht unphppuinguwlwt dwnuynugniutitip A< npwd | 1000000 1 1000,0
79411140 | Uwpnywihtu nunipuutph junwywpdwt dwawjniejniu uu nnwd 990000 1 990,0
79211210 Cwpquuywhwlwl Yepwhulynnnipinit Ul npwd 990000 1 990,0
79111100 hpwywpwtwlywl dwnwjnyeniiubp Uu npwd | 1000000 1 1000,0
75111200 Opbuunpulwl dwawnie)nitl uu npwd 990000 1 990,0
32411130 Lwidwgwlg Uu hwwn 936000 1 936,0
32411130 Lwiwgwlg uu hwwn 60000 1 60,0
65311100 Eibynpulwinipiwi pusfunid uu npwd | 117866000 1 117866,0
65211100 Suwgh pwfunud Uu npwd | 30400000 1 30400,0
65111100 Fudbynit oph pufund UU | npwd | 16341500 1 16341,5
64211120 Uhgpwnwpuyht hnwlunuwiht dwnwnyanitutp uu npwd 2240000 1 2240,0
90511120 Yhugwnuyht wnph hwywpwgpdwl Swnwnigniittip uu npwd | 2700000 1 2700,0
50421100 | Fo24wluw uwnplinh qepwbnnngduwt b wuhuwbdl 1y | o | 7050000 1 7050,0
Swnuwnupiniiutin
50111300 Uuwnnnbph Japwunpngdwl dwnwjnipjniuutn’ Ui Fi 45000 1 450
ubpwniw) dntnwdnd b huidwuwpulipnnud




50111180 Udunubipbiuwttiph wgdwl dwnwinipjniiubin uu npwid 97000 1 97,0
50851100 Yuwhnyph Ybpwnpngiwl dwnwynipnittiin Uu hwwn 931000 1 931,0
45511100 Uywnnwownwpwlh Swnwjnipniu Uu. hww 17250 1 17,3
50751100 Ybipbpulubiph Unpnguwt dwnwinyejntu uu hwwn 310000 1 310,0
50751100 “Tanbyuljutinh inpaupUnipl,uujwusiplan U | hwe | 290000 1 290,0
wldbwlwadh dipwwwinpwunnu
50311240 Munfbluhwtnn uwpplinh Yepulinpngul UU | hun | 936000 1 936,0
Swnwnyz|niitibp
72212300 Yuypbiph wpnhuljwwgiwl Swnwjniejnil Uu hwwn 956000 1 956,0
22411110 Guypbobipnud hwynwpwpnipiniiliiph nbnunpdwt Ul —— 904000 q 904,0
Swnwnziniu
79521100 Muwbuwhwudwl Swnwnypinit Ul hwwn 250000 1 250,0
50531150 Suquiht uwppbph wwhwwtdwl Swnwnyajnit Uu hwun 315000 1 315,0
90921300 Unubiintubph nbd wwypwph Swnwnygniitbp uu hwun 543000 1 543,0
90921200 Juwuwwnniubph nbd wwjpwph dSwnwnipint uu hwwn 50000 1 50,0
79341100 Snywgnuighl dwnuynipniu Uu hwn 354000 1 354,0
sesimgo | onehsbbnnd thofuuwnpwdhgngtinh wuwhndugndwbi ) ny | oy | 185500 1 185,5
wnbfuquidwl Swnwinipntl
92421100 @tppbpnud hwjwpwpnipnuubph nywgpdwl uu npuw 229800 1 229.8
Swnwinuypintu
50341500 Uudunwugnuejul mbuwtugt:)l?hph uywuwplnut / UOU- uu _— 180000 1 80,0
64111200 | Pnunwiht Swnwjnipiniutbn’ Ywwyyws bwdwlutph htn | UW npwd 138900 1 138,9
79951100 Uhgngwnnmudubiph htin Yuuwé Swnw)nuypjniutibip uu nnwd 583000 1 583,0
Zuljhs - npwdwplnuht depbuwtibph wbfutihywlwu
503113 d 2 1 263,6
0311300 o N uu s 63600
66131100 Undbenphinh hia uwujud dhebinpatewt UL | nows | 66000 1 66,0
Swnw|nip|ntu
programming services of systems and user software
72211100 | /hwdwlwpgbnph U oginwgnpdnnh dpwgpbiph dawldwu uu npuwd 4420000 1 4420,0
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